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Question Id : 4255894442 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the cumulative percentage of the total number of students appearing in
the Hindi and Punjabi examination and the cumulative number of students appearing in the Hindi
examination and scoring marks in five different categories, namely, 80 and above; 70 and above; 60 and
above; 50 and above; and 40 and above. Based on the data in the table, answer the questions that
follow.

Marks-wise distribution of students

Cumulative precentage of :
the total number of students [ s e e
Marks (Out of 100) : g students who appeared

who appeared in Hindi and in Hindi
Punjabi

80 and above 15% 108

70 and above 35% 264

60 and above 65% 424

50 and above 90 % 554

40 and above 100% 624

Note : (1) Total number of students who attended the exam is 1200.

(2) No student failed in the examination.

(3) Each student appeared in only one exam, that is, either in Hindi or in Punjabi exam.

Sub questions

Question Number : 1 Question Id : 4255894443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks :

What is the sum of the number of students who scored 70 or more than 70 but less than B0 marks
in Hindi and the number of students who scored 80 or more than 80 marks in Punjabi ?

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558917256. 1
42558917257.2
42558917258. 3
42558917259. 4

Question Number : 2 Question Id : 4255894444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of students who scored 50 or more than 50 marks but less than 60
marks in Hindi to the number of students who scored 40 or more than 40 marks but less than 50
marks in Punjabi ?

1 12:11
2 8:7
(3) 3:1
(4 13:5
Options :

42558917260. 1
42558917261.2
42558917262. 3



42558917263. 4

Question Number : 3 Question Id : 4255894445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The number of students who scored 80 and above marks in Hindi is % less than the
number of students who scored 60 or more than 60 marks but less than 70 marks in Punjabi.

(1) 46

(2) 54
(3) 44
(4) 52

Options :

42558917264. 1
42558917265. 2
42558917266. 3
42558917267. 4

Question Number : 4 Question Id : 4255894446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of students who scored 70 or more than 70 marks but
less than 80 marks in Punjabi and the number of students who scored 40 or more than 40 marks
but less than 50 marks in Hindi ?

(1) 20
(2) 16
(3) 14
(4) 30

Options :

42558917268. 1
42558917269. 2
42558917270. 3
42558917271. 4

Question Number : 5 Question Id : 4255894447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average of the number of students who scored 50 or more than 50 marks but less than
60 marks in Punjabi and the number of students who scored 50 or more than 50 marks but less
than 60 marks in Hindi ?

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558917272. 1
42558917273.2
42558917274. 3
42558917275. 4



Question Id : 4255894442 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
fe enferrt 9 fewt o el wiien /a7 o ot ferenfiEi @6 et dem o diwa wfaera 9 fédt often # s
oF 3T 80 9 31fHer; 70 9 31faes; 60 & 31ftreR; 50 9 3ifms, 3 40 9 21fys =1 = fa=1 3fodl o sfe W @
et farenfeff 1 dfaa dem g ¢ %) afersr ® e SR1 F Sum T T g9 MY 9 & SR Ty ;
fearenfefai =t 3fer-am faavor

foedt = ot ol § wwr o | et after H W o amer

ok (100 % ) |arer feenfofat &Y wor oear & |faenfi= < wfea dear
Hfera gfdwra

80 7 afers 15% 108

70 7 3fem 35% 264

60 7 =i 65% 424

50 3 3m 90% 554

40 7 3w 100% 624

feoquft . (1)  wden ¥ Suferm faenfei o e W@ 1200 7
(2) odten § g off ferenef arpsiol T gem ¥
(3) ek fammeft 3 e Tk Than et et TiieT steren aeie aiian | & 9 fam g

Sub questions

Question Number : 1 Question Id : 4255894443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feat 5 70 31eran 70 ¥ ik T 80 | W ik W T Al ferenfei=i ot Hem | qeiel | 80 SA9en 80 §
Aferer oieF W S Aot famnfeE w5 g o A e g 2

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558917256. 1
42558917257. 2
42558917258. 3
42558917259. 4

Question Number : 2 Question Id : 4255894444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

féat # 50 SA%a1 50 | Afeer 9= 60 ¥ W 35k U F Al fornf2@i =t G ® Srel H 40 S9ar 40
3ieh 9 @Ik T 50 3feF T W 27 U A o faenfEi ot den 9 s = e ?
(1 12:11

(2 8:7
(3) 3:1
(4) 13:5

Options :

42558917260. 1
42558917261.2
42558917262. 3



42558917263. 4

Question Number : 3 Question Id : 4255894445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fadi # 80 =1eren 80 ® ferek ¥ wre H¥A aret Ternfei =1 Hen =1 dSiel § 60 19 60 7% 9 e

W 70 SR W FwH 3 Y w4 o Tt o gen | % A T |
(1) 46
(2) 54
(3) 44
@) 52
Options :

42558917264. 1
42558917265.2
42558917266. 3
42558917267. 4

Question Number : 4 Question Id : 4255894446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YSTEl H 70 AGS1 70 ek § SAfHeE 9w 80 Sk § wH Ui ool farenfeldl w1 e o @< # 40 stemn
40 37 9 ¥ W 50 3F | W Aiss arel fanfefi i emn & o= w1 i @ g ?

(1) 20
(2 16
() 14
@) 30

Options :

42558917268. 1
42558917269. 2
42558917270. 3
42558917271. 4

Question Number : 5 Question Id : 4255894447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
USTEt H 50 el 50 37 € HAF T 60 3F H HH Ui Ao fomnffE @ e o & 6 50 e
50 37 | AfF W 60 3IF H FH Ui art faenfei=i #1 & &1 oiaa =0 872

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558917272. 1

42558917273.2

42558917274. 3

42558917275. 4

Sub-Section Number : 2
Sub-Section Id : 425589182
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 4255894448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The role of a teacher in the simulation model is that of
(1) Explaining

(2) Designing

(3)  Describing

(4) Chosing activity

Options :

42558917276. 1

42558917277. 2

42558917278. 3
42558917279. 4

Question Number : 6 Question Id : 4255894448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR Hieel § U foasrr 5 e Eald
(1) T A ()

(2) SIfvFHeTHE

(3) = FH

(4) FTEFETT I

Options :

42558917276. 1
425589172717.2
42558917278. 3
42558917279. 4

Question Number : 7 Question Id : 4255894449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The CBCS (Choice Based Credit System) in higher education promotes :
(1) Rigid Curriculum structure

(2) Flexibility in course selection

(3) Limited student choices

(4) Only theoretical learning

Options :

42558917280. 1

42558917281. 2

42558917282. 3
42558917283. 4



Question Number : 7 Question Id : 4255894449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F=aar e o o1& e (FEA enania e fawen) frefafea = deafed st

(1) =7 greT=d] §3EA1
(2) UISTRH FEA H ARAEA
(3) Bl o WA HitHd =5 o fawe
(4) Fae Haifae stfrm
Options :

42558917280. 1
42558917281.2
42558917282. 3
42558917283. 4

Question Number : 8 Question Id : 4255894450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the problem-solving strategy.

(A) Generate many possible solutions

(B) Determine how to implement the solution and evaluate the success of the solution
(C) Make a decision

(D) Evaluate each solution

(E) Define the problem

Choose the correct answer from the options given below.
(1) BEADC

(2} E ADCB

3) A, BCDE

4 CABED

Options :

42558917284. 1

42558917285. 2

42558917286. 3
42558917287. 4



Question Number : 8 Question Id : 4255894450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HHST-FHMM 1 WHIfad] ] SFaferd Shife

(A) 3T Hya FHIEE F 30 FHAT

(B) @& MuiRa =T ff oMM o1 34 fopanf= foran STe. o7 S o1 Sherdl 1 Y Jedisd &
il

(C) faoim o

(D) Uik GHIHM 1 Hedidhd Tl

(E) TwE1 1 9fsfud e

= feu o faedi § ¥ WE ST A -

(1) B,E AD,C

(2) EAD,CB

(3) A, BCDE

(4 C,ABED

Options :

42558917284. 1
42558917285.2
42558917286. 3
42558917287. 4

Question Number : 9 Question Id : 4255894451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Learning for all implies :

(A) Inclusive Education

(B) Equitable Education

(C) Inclusive and Equitable Education
(D) Quality Education

(E) Categorized based Education
Choose the correct answer from the options given below.
(1) A, Band D only

(2) A andE only

(3) Conly

(4) Donly

Options :

42558917288. 1

42558917289.2

42558917290. 3
42558917291. 4



Question Number : 9 Question Id : 4255894451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

asft & fog siferm = ared ®
(A) THEE foan

(B) =IrEETd foisn

(C) WM iR = forer
(D)  T[UrerTE e

(E) arfierto—3Trerfia forem

9 feu o faskredi § 9 W& T A ¢
(1) oaa A, B3RD

(2) HIA A SARE

(3) e C

(4) oA D
Options :

42558917288. 1
42558917289. 2
42558917290. 3
42558917291. 4

Question Number : 10 Question Id : 4255894452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1 :
List - 1
(Learning style)

A. Convergent

B. Divergent

C.  Assimilation

D. Accommodative

L
IL

1.

V.

List - II

(Strengths)

Creating theoretical model

Practical Application of ideas

Carrying out plans and tasks that involves students
in new experiences

Imaginative ability and generation of ideas

Choose the correct answer from the options given below :

(1) A-L B-I, C-lI, D-IV
(2) A-IL, B-I, C-III, D-IV
(3) A-ILL B-IV, C-I, D-1II
(4) A-IV, B-I, C-II, D-II
Options :

42558917292. 1

42558917293.2

42558917294. 3

42558917295. 4



Question Number : 10 Question Id : 4255894452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
T -1 T - 11
( arferm gt ) (vfe)

A.  aifvmfa I Hgifas feel =1 gfsa e

B. fw= 1. fo=mi = sy

C. AR 1. 39 FArsed IR &Ml &l &, 5 e
aval | faenedt wrieRt w3 €1

D. HHEEAYO IV. heareTeh & SR fa=mi sl 3= &

= fau o foeredi o ¥ wWE W A ¢

(1) A-l B-II, C-1II, D-IV
(2) AL B, CII, D-IV
(3) A-IL B-1V, C-I, D-1II
4) A1V, B-L CIII, D-II

Options :

42558917292. 1
42558917293.2
42558917294. 3
42558917295. 4

Question Number : 11 Question Id : 4255894453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Exploratory Research ?

(1) It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

(2) It studies subject about which either no information or the limited information is available.

(3) It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

(4) Itis based on common sense knowledge based on the accumulated experiences and beliefs of
the people.
Options :
42558917296. 1
42558917297.2
42558917298. 3
42558917299. 4



Question Number : 11 Question Id : 4255894453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AU STeT -1 Brel & 7

(1)

()

(4)

I8 Ao fefadi, Arfser semat, wrfsren srawenaii, e e, sTfe & 9uie T B
IeeRdl SaceR/315999 Fd] & SR 99 98 90 R § foh 399 == )

7IE UH faua 1 319 &ia1 © F9meh 9 | 91 9 i ga SUers el © 9 Hiiid gE 3uers
gl

I GTfSTer TREEAT 3 SR =l oA R © | YRd § wieensd gr fru o 1@ arqusi & famr |
Wehfd =1 U A Hieel SIqY H Tk &l © W o A A Fl FAl © q8 IHeH ATATHE &
.

7% AR % Wi sHveE 9 favam e ges 9fg 79

Options :

42558917296. 1
42558917297.2
42558917298. 3
42558917299. 4

Question Number : 12 Question Id : 4255894454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Explanatory research 7

(1)
(2)

()

(4)

It studies subject about which either no information or the limited information is available.

It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

It is based on common sense knowledge based on the accumulated experiences and beliefs of
the people.

Options :

42558917300. 1
42558917301. 2
42558917302. 3
42558917303. 4



Question Number : 12 Question Id : 4255894454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U ST 7 el © 2
(1) =e UY faua =1 semae & Fomes o | 1 O g g Suas Tl € A1 Siihd gEe S €

(2) @ TritsTe feafedl, grafses semell, Tmmfees saewensti, arfess Sramet, snfe 1 9o e €|
YTeRRdl ST/ AT Al © R T8 € J0A Ll ¢ b 39 = I T 7

(3) I% GmfeTe TRERAT 8 RN i Al Al ¥ | YRa | nfgensii grR1 fRe s @ s & fawar @
WER(d =1 S0 AT Hfee SR 1 UF Uel U o ¥ ST i S €, e SHH ASAE e
€l

(@) Te @n % Gfew srua 9 favamdi w snenfa gesfs I 8 €

Options :
42158917300.1
42558917301. 2

42558917302. 3
42558917303. 4

Question Number : 13 Question Id : 4255894455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Standard deviation (S) and coefficient of Variation (CV Expressed as a percentage) of different
datasets are given in A-D, below. Compute the mean of each dataset and arrange in ascending
order.

A. S=4,CV = 40/9
B. 5=50CV =462
C. S=14,CV =70/3

D. S§=16,CV =160/7

Choose the correct answer from the options given below :
(1 CBDA

2 CDBA

3) ADBC

4 D,BCA

Options :

42558917304. 1
42558917305.2
42558917306. 3
42558917307. 4



Question Number : 13 Question Id : 4255894455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=1 el o A o= (S) S Y8R & Hed[uish (CV wfcsrear # =ek) 99 A-D | fau 70 81 9
BIEEE o HILF ! O] Hifeg 3T A€ 570 § =Fafeerd hifsi :

A. S=4CV =40/9

B. 8=50CV =625

C S=11.CV= 7073

D. S5 =16,CV = 160/7

3 fom o foreredti H & W ST -

() ©.B.DA
(2) CD,B,A
(3) A DBC
(4 D,B,C A
Options :
42558917304. 1
42558917305.2

42558917306. 3
42558917307. 4

Question Number : 14 Question Id : 4255894456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the risks of plagiarism for the researcher who plagiarises ?
A.  Losing of the Inspiration

B. Losing of the obtained titles

C. Destruction of obtained solutions

D. Destroying the public image

Choose the most appropriate answer from the options given below :

(I) A andC Only

(2) Band C Only

(3) Band D Only

(4) Cand D Only
Options :

42558917308. 1
42558917309. 2
42558917310.3
42558917311. 4



Question Number : 14 Question Id : 4255894456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
weRkal o fe o § - wifefoaes < &% Sifem €2
A, U F B
B. T YN o B
C. 9 §HIHHE k1 foAm
D. i Bfa &1 fasy
= feu U fosredi | 9 W& I A ¢

(1) o A 3RC

(2) A BIRC

(3) aA B SR D

(4) @ C 3R D
Options :

42558917308. 1
42558917309. 2
42558917310. 3
42558917311. 4

Question Number : 15 Question Id : 4255894457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - II
- | . B
opulation mean dan = . Oopulation sitandaar eviaiuon (o
[Populat () dNZx,] [Populat tandard deviation (o)]
2 2=117
A, u=9, ﬁzlf— L. 10
10, — 5 x2=200
B. u=10, ﬁz.xi— I 4
Ly 200 :
C. u=1, Ez:r,-— . 6
1 2
D. u=12, ﬁZx,- =160 IV. 9

Choose the correct answer from the options given below :
(1) A-II, B-1V, C-1, D-II

(2) A-LL B, C-IV, D-1II

(3) A, B-I, C-IV, D-II

(4) A-L B-1V, CI, D-11II

Options :

42558917312. 1

42558917313.2

42558917314.3
42558917315. 4



Question Number : 15 Question Id : 4255894457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

. 1. 5 .
[ SEEAT We () N ﬁfo ] [SEE " faere T (o)]

|

A, u=9, EZI,:H? L 10
I

B, u=10, X% =200 I 4
1 2

C. u=11, §2x5=202 . 6
1 2

D. u=12, szf-:lﬁﬂ IV. 9

= feu o foepedi H 9 @& T A -

(1) A-II, B-1V, C-I, D-II
(2) A-IL B-I, C-1V, D-1II
(3) A, B-1, C-1V, D-II
(4) A-L B-1vV, C-I, D-1II

Options :

42558917312. 1

42558917313.2

42558917314.3
42558917315. 4

Question Number : 16 Question Id : 4255894458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first talkie feature film made in India ?
(1) Ardeshar Irani

(2) Ritwik Ghatak

(3) Dada Saheb Phalke

(4) Bimal Roy

Options :

42558917316. 1

42558917317.2

42558917318. 3
42558917319. 4



Question Number : 16 Question Id : 4255894458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s # fAfa wam serd (2R drer firen =1 fHeem fore fean an ?

(1) 3T/ A

(2) fifeer ===%
(3) T HE HIeh
(4) foma
Options :

42558917316. 1
42558917317.2
42558917318. 3
42558917319. 4

Question Number : 17 Question Id : 4255894459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first film made in India ?
(1) Satyajit Ray

(2) Dada Saheb Phalke

(3)  Prithvi Raj Kapoor

(4) Ardeshar Irani

Options :

42558917320. 1

42558917321.2

42558917322. 3
42558917323. 4

Question Number : 17 Question Id : 4255894459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sy 7 fAfa gem fren =1 fadee forem foram en?
(1) Fegsia 1

(2) <€l |Es Feh

(3) g T FR

(4) STRIR AT

Options :

42558917320. 1
42558917321.2
42558917322.3
42558917323. 4



Question Number : 18 Question Id : 4255894460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct chronological order of the following television programmes released on
Doordarshan in India (from earliest to latest)?

A.  Mahabharatha
B. Chandrakanta
C. Hum Log

D. Ramayana

E. Buniyad

Choose the correct answer from the options given below :
1 & BC BE

2} CEDAB

3) BC A DE

4 B, ADEC

Options :

42558917324. 1

42558917325.2

42558917326. 3
42558917327. 4

Question Number : 18 Question Id : 4255894460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R H e W e eefifasm Frfsmei it Wet doskn (Faifus sifvyes § F&@aq aF) #n € ?

A, HEWA
B.  =ehidl
C. B9
D. ImEW
E. dfr
=1 feu o fasedi § 9 W@ ST A ¢

) ABCDE

0 CED,AB
@) B,C A DE
4) B,AD,EC

Options :

42558917324. 1
42558917325.2
42558917326. 3
42558917327. 4



Question Number : 19 Question Id : 4255894461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following films are directed by Satyajit Ray ?

A, Madhumati
B. Apur Sansar
C. Sujata

D.  Aparajito

E.

Pather Panchali

Choose the most appropriate answer from the options given below :
(1) B, D and E Only

(2) A and C Only

(3) A, B, CandD Only

(4) A, Band COnly

Options :

42558917328. 1

42558917329. 2

42558917330. 3
42558917331. 4

Question Number : 19 Question Id : 4255894461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= o | Tegsiia Y gr fefvm frew m o €2

A, HEHA

B. X HER

C. g

D.  Sfuufedl

E. W gt

Fr= fau o fosredi 8 9 W& T A ¢
(1) @ B, D 3RE
(2) FFa A3RC

(3) @FaA A, B,C3RD
(4) oFEA A, B3R C
Options :

42558917328. 1
42558917329.2
42558917330. 3
42558917331. 4



Question Number : 20 Question Id : 4255894462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - 1 List - II
(Meaning) (Terms)
A.  Who L. Receiver
B.  Says what II. Communicator
C.  In which channel III. Message
D. To whom IV. Medium

Choose the correct answer from the options given below :
(1) A-I, B-1I, C-I, D-IV

(2) A-L B-1v, C1I, D-II

(3) Al B-II, C-IV, D-1

(4) A-Iv, B-1I, C-I, D-1II

Options :

42558917332. 1

42558917333.2

42558917334.3
42558917335. 4

Question Number : 20 Question Id : 4255894462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1o Gt - 1 At
e -1 - 11

(3ref) (7g)
A, A I T ol
B. @Al . HEE
Cc. Trg=aeH [ H3w
D. fe&Ed V. W
9 feu o fawed § | wé s 9

(1) A-l, B-IL C-1I, D-IV
(2) Al B-1Iv, CII, D-II
(3) A-II, B-III, C-1V, D-I
(4) A-IV, B-1I, C-I, D-1II

Options :

42558917332. 1

42558917333.2

42558917334. 3
42558917335. 4



Question Number : 21 Question Id : 4255894463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (7) in the series given below.
7, 12, 32, 122, 2, 3602, 252(2

(1) 602
(2) 610
(3) 702
(4) 622
Options :

42558917336. 1
42558917337.2
42558917338. 3
42558917339. 4

Question Number : 21 Question Id : 4255894463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
3G HE&A 1 9l oG S e # 9 o (2) 1 wiaeniud 6 |
7,12, 32, 122, 7, 3602, 256202

(1) 602
(2) 610
(@) 702
(4) 622
Options :

42558917336. 1
42558917337.2
42558917338. 3
42558917339. 4

Question Number : 22 Question Id : 4255894464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language :
‘NOIDA" is written as : 1, 4, 9, 15, 14
‘INDIA’ is writtenas : 1, 9, 4, 14, 9
How ‘"HELLO’ will be written in this language ?
(1} 15,12,12,5,8

{2y 5,12, 12,15 8

(3) 8,5 12,12, 15

(4) 12,5,12,8,15

Options :

42558917340. 1

42558917341. 2

42558917342. 3
42558917343. 4



Question Number : 22 Question Id : 4255894464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HaTT FZ AW H :
‘NOIDA’ 1 ‘1, 4, 9, 15, 14’ & ¥9 ¥ foan 9 T
‘INDIA’ %171, 9, 4, 14,9 % ¥4 ¥ foran mam g
IR Y H ‘HELLO' %l Y feran s ?
(1) 15,12, 12,5, 8
(2) 5,12, 12,15, 8
(3) 8,5 12,12, 15
(4) 12,5, 12, 8,15

Options :

42558917340.
42558917341.
42558917342.
42558917343.

AW N~

Question Number : 23 Question Id : 4255894465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement(s) is/are wrong ?

A. A man runs at a speed of 20 km/hr and covers a distance of 400 m. The time taken by the
man to cover 400 m is § minutes.

B. A person covers a certain distance at x km/hr and an equal distance at y km/hr. The

average speed during the whole journey is ﬁ km/hr.

1
C. A Cydlist covers a distance of 750 m in 25 minutes. The speed of the cyclist is 18 km/hr.

5x
D. A speed of x km/hr is equal to E m/ sec

Choose the most appropriate answer from the options given below :
(1) A Only

(2) Aand BOnly

(3) A and C Only

(4) B, CandD Only

Options :

42558917344. 1

42558917345.2

42558917346. 3
42558917347. 4



Question Number : 23 Question Id : 4255894465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e & | F9 T8 weH e §2

A, afe ws =fa 20 /e # 0f | Sea T o 400 WX # g8 79 AT €, 91400 H. g @
w0 H 39 8 fige &1 90 o ©

B. W& =AfH x &= =i nfa ¥ wah <t 70 o & iR 3o & gy TR e =t fa § sa e 2
2
el I T ST sia T %ﬁﬁq}fﬁ%%
C. & HEfaa =@ 750 Hiz & gl 2% e © a9 a1 €1 39 HiEfehel =eteh #1 fd 18 fRei=a
el

D. xRt/ =R f—s AT % S

= fau o foeredi § | Wé 3 A ¢
(1) A A

(2) e A BB

(3) oA A SR C

(4) %Fa B,C3RD
Options :

42558917344. 1
42558917345. 2
42558917346. 3
42558917347. 4

Question Number : 24 Question Id : 4255894466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a producer allows 36% commission on the retail price of his product, he earns a profit of
8.8%. What would be his pmfil if the commission is reduced by 24% ?

(1) 36.6%
(2) 49.6%
(3) 59.6%
(4) 45.6%

Options :

42558917348. 1
42558917349.2
42558917350. 3
42558917351. 4



Question Number : 24 Question Id : 4255894466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S HIE IAEF ST 3G ok el Yod T 36 e FHEH a1 7 9 39 8.8% T W < ¥ 1 Af 3w
FHA H 24 GFa9rd 1 Frdr oL < Sl 39 fhRan ey e g ?
(1) 36.6%
(2) 49.6%
(3) 59.6%
(4) 45.6%
Options :
42558917348. 1
42558917349. 2

42558917350. 3
42558917351. 4

Question Number : 25 Question Id : 4255894467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A sum was put at simple interest at a certain rate for 3 years, Had it been put at 1% higher rate, it
would have fetched ¥5100 more. Find the sum.

(1) < 170,000

(2) ¥ 150,000

(3) 175,000

(4) ¥ 200,000

Options :

42558917352. 1

42558917353.2

42558917354. 3
42558917355. 4

Question Number : 25 Question Id : 4255894467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ek Y09 i fordt aram samet € W 3 99 & foan sman © 1 afe 39 vt = 1% eifues gt o fean s
1T 5100 21fersk U B9 1 39 GFAf 1 T ey |
(1) % 170,000
(2) % 150,000
(3) ¥ 175,000
(4) T 200,000
Options :
42558917352. 1
42558917353.2

42558917354.3
42558917355. 4



Question Number : 26 Question Id : 4255894468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements contradict each other ?

A, All ducks are birds.

B. Some ducks are birds.

C. Some ducks are not birds.

D. No ducks are birds.

Choose the most appropriate answer from the options given below :
(1) AandD Only

(2) Band COnly

(3) Band D Only

(4) Cand D Only

Options :

42558917356. 1
42558917357. 2
42558917358. 3
42558917359. 4

Question Number : 26 Question Id : 4255894468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefea #§ & %F-9 oA TF g 1 S Hd © 2

A, Ot s vl B €

B. %o @ Ul g €

C. Osft s el el o

D. I o el e g |

1 fau o fasredi o | wWé s A -
(1) oFFA A AR D

(2) FFABERC

(3) <A B ERD

(4) FA C AR D

Options :

42558917356. 1
42558917357.2
42558917358. 3
42558917359. 4



Question Number : 27 Question Id : 4255894469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the statement “No birds are animals” is given as false, which of the following statements can be
inferred to be true ?

A.  Some animals are not birds.

B. Some birds are not animals.

C. Some animals are birds.

D. Some birds are animals.

Choose the most appropriate answer from the options given below :

(1) Aand BOnly

(2) Cand D Only

(3) B Only
(4) A, B, CandD
Options :

42558917360. 1
42558917361.2
42558917362. 3
42558917363. 4

Question Number : 27 Question Id : 4255894469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ifg T g veft SIFeR T BT ©' R ST U W ® o FrefafEa § ¥ 8w F 9 o
STHF TR 1 Fehall © 2

A, T SR el 72 8 €

B. F® Ul SHaX & & €|

C. &8 IR 9&fi 2 €1

D. %o el STer 2 € |

1 fau o foeredi # | WE s A ¢
(1) oaA A SATB

(2) oda C 3D

(3) <ReA B

(4) A,BC3RD

Options :

42558917360. 1
42558917361.2
42558917362. 3
42558917363. 4



Question Number : 28 Question Id : 4255894470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“This is the richest fraternity on the campus; therefore Mr. X who is a member of this fraternity
must be one of the richest young man on the campus.” Which fallacy is involved in this
argument ?

(1) Fallacy of division

(2) Fallacy of irrelevant conclusion

(3) Red Herring

(4) Slippery slope

Options :

42558917364. 1

42558917365. 2

42558917366. 3
42558917367. 4

Question Number : 28 Question Id : 4255894470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" 2 IR 1 HIE TYE FYT TUE ©; TN 4 U (X) S 39 Sy e F e €, IR % ggaan
A | 9 T B Afes | 39 gia | hiA-H1 Tehary forRmH € 7

(1) fere-<m

(2) iR fafg g

(3) YTHE HeRd

(4) TruegH Tad
Options :

42558917364. 1
42558917365. 2
42558917366. 3
42558917367. 4

Question Number : 29 Question Id : 4255894471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of increasing extension.
A.  Social Science

B.  Political Science

C.  Sciences

D. Politics of International Relations

Choose the most appropriate answer from the options given below :
(1] <4:B D

2 ACBD

(3) B DAC

4 DB AC

Options :

42558917368. 1
42558917369. 2
42558917370. 3
42558917371. 4



Question Number : 29 Question Id : 4255894471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa =1 92t ar@d & 0§ safe Fif

A.  HEE fagm

B. SHIfdfasH

C. fogm

D. s=Rifeg e s et
=1 feu 7o fased § ¥ W/E SR ¢

(1) CA,BD
2 ACBD
(3) B,DAC
(4 D,B AC
Options :
42558917368. 1
42558917369. 2

42558917370. 3
42558917371. 4

Question Number : 30 Question Id : 4255894472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the classical Indian school of logic, which of the following instruments of knowledge
is defined as the knowledge of the relation between a word and its denotation and is produced by
the knowledge of resemblance or similarity ?

(1)  Pratyaksa (perception)
(2) Anumana (inference)
(3) Upamana (comparison)

(4) Sfabda (verbal testimony)

Options :

42558917372. 1
42558917373. 2
42558917374. 3
42558917375. 4



Question Number : 30 Question Id : 4255894472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YT YA TeRIe Ha o S1aR Hefcfaa § 9 961 & {60 916H 1 v2 3 39 a5ad & o9 Ja4
% FH % w9 H gRenfud foran stran € 1R wigvad & 99 & ®9 H Ioa fohar s €2

(1) 9a&
(2) STIHM
(3) S
(4) ]
Options :

42558917372 1
42558917373. 2
42558917374.3
42558917375. 4

Question Number : 31 Question Id : 4255894473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is an example of IEEE 802.3 ?

(1) LAN
(2) MAN
(3) WAN
(4) PAN

Options :

42558917376. 1
42558917377. 2
42558917378.3
42558917379. 4

Question Number : 31 Question Id : 4255894473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa & & s34 802.3 (IEEE 802.3) foFant Us 3ereww 22
(1) TATEA. (LAN)

(2) THUTEA (MAN)

(3) T=E.LE. (WAN)

(4) WL (PAN)

Options :

42558917376. 1
42558917377. 2
42558917378. 3
42558917379. 4



Question Number : 32 Question Id : 4255894474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following technologies is used in second generation of computer ?
(1) Vacuum tubes
(2) Transistors
(3) Integrated Circuits
(4) VLSI
Options :
42558917380. 1
42558917381. 2

42558917382. 3
42558917383. 4

Question Number : 32 Question Id : 4255894474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frferfaa & & St dRifmerT s i fadm G o vge =1 S e 2

(1) S g

(2) Fifores

(3) wHfwa Hfkew

(4) SLUATE.SE. (VLSI)
Options :

42558917380. 1
42558917381.2
42558917382. 3
42558917383. 4

Question Number : 33 Question Id : 4255894475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct sequence of increasing access time of storage/memory devices ?

A.  Magnetic tape
B. RAM

C. Cache memory
D. Hard disk

E. Registers

Choose the correct answer from the options given below :
1y A, BCDE

2y BECAD

3) ECBDA

4 CEBAD

Options :

42558917384. 1

42558917385.2

42558917386. 3
42558917387. 4



Question Number : 33 Question Id : 4255894475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

farafefiaa o & s LE/AHR SRl & ded (T 28T (TEH 9H4) T % €7

A.  HHfesw 29
B. 1 (RAM)
C. 9 "EH
D. @ fe=r
E

. =

9 feu v faedi § | wE S 9
(1) A BCDE

(2) BECAD

(3) EC B,D,A

(4) CEBAD

Options :

42558917384. 1

42558917385.2

42558917386. 3
42558917387. 4

Question Number : 34 Question Id : 4255894476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
With reference to cyber attacks, which of the following statements are correct ?

A Malware is a malicious software designed to cause damage to a single computer, server or
computer nebwork.

B.  Types of malware include computer viruses, worms, trojan horses, ransomware and spyware.
C. Pegasus is a malicious software classified as Ransomware.

D. India is not a signatory to the Budapest convention on cybercrime.

Choose the most appropriate answer from the options given below :

(I) A Band COnly

(2) B,CandD Only

(3) A, B CandD

(4) A, Band D Only

Options :

42558917388. 1
42558917389.2
42558917390. 3
42558917391. 4



Question Number : 34 Question Id : 4255894476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefiaa # § 9 Fud aeet eaal & gef o we €2
A, TEER O fagug SiweeR € o U Ukl e, et A e Aeeh o AR wgeH o ferg
sAfvrerfeaa T T B
B.  HIETRR % USRI H FFeR Ry, d1e, 2o 2, FEHag 3R WEeeR aftfed €
C. YT SR % B9 T oifieha wek fagergol aidesT ¥
D. 9Rd HEE- 390 T FEre ARRTg W UF SEaaEd oF 76 g

= fau o foeredi § | W& T A ¢
(1) &aa A, B3RC

(2) @&d B, C 3D

(3) ABC3RD

(4) oFFd A, B3RD
Options :

42558917388. 1
42558917389.2
42558917390. 3
42558917391. 4

Question Number : 35 Question Id : 4255894477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List - II
(Operating system) (Task)
A. UNIX 152 Assist users in system maintenance task
B. MS-DOS I[I. Mobile device
C.  Android OS III. Single user operating system
D.  Utility programs IV.  Multi user operating system

Choose the correct answer from the options given below :
(1) A-I, B-IV, C-1, D-II

(2) A-L B-II, C-1V, D-1II

(3) A-LV, B-lIlI, C-11, D-1

(4) A-Il, B-I, CI, D-IV

Options :

42558917392. 1

42558917393. 2

42558917394. 3
42558917395. 4



Question Number : 35 Question Id : 4255894477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

( erroufeT fawewm) (=Td)
A, FUAHAETH. (UNIX) [.  YUTel % TEvEE FE H el
1 FETFdl L @ |
B. TATH.EM (MS-DOS) . Hiarse 39
C. T=ERE ALTHE. (Android OS) 1. foe gor sfen fae=n
D. Fffeet dmms (ST FEy) IV. Wedl-gor sfifer fawen
=1 feu o fasredi § ¥ W@ IW A ¢

(1) A-lI, B-IV, C-I, D-II
(2) A-l B-II, C-IV, D-III
(3) A-IV, B-III, C-1I, D-1
(4) A, B-1I, CI, D-1IV

Options :

42558917392. 1

42558917393.2

42558917394. 3
42558917395. 4

Question Number : 36 Question Id : 4255894478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about coliform bacteria ?

A.  They are used to test water contamination.

B. Coliform bacteria are harmless and cause no disease.

C.  They are found naturally in human intestinal tract.

D.  Their presence in water is an indication of fecal contamination.
Choose the most appropriate answer from the options given below :
(I) AandD Only

(2) Band COnly

(3) A, CandD Only

(4 A B CandD

Options :

42558917396. 1
42558917397.2
42558917398. 3
42558917399. 4



Question Number : 36 Question Id : 4255894478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa 5 9 Fafered siam & an § FH9 FoH 96§ 2

A, T® Sa-9guW F afta § ygad feen S

B.  wIfawH Siiamy e e ¥ 3R foRe I 1 3o 7 &ed §
C. T OGN 71 H o §9 § 9 S ¥

D. ¥ gl faemmar faen dgum %1 uF ek 2

1 feu o foedi # | 9@ SR T ¢
(1) aa A 3RD

(2) A BIRC

(3) HIA A, C3HRD

(4) A, B, C3RD
Options :

42558917396. 1
42558917397. 2
42558917398. 3
42558917399. 4

Question Number : 37 Question Id : 4255894479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why is the concentration of CO, is more in the Northern Hemisphere than the Southern
Hemisphere ?

A. Land mass is more in the Northern Hemisphere.
B. Ocean body is more in the Southern Hemisphere.
C. Fossil fuel is burnt more in the Northern Hemisphere.

D.  Northern Hemisphere is colder than the Southern Hemisphere.
Choose the most appropriate answer from the options given below :
(1) A andC Only

(2) B,CandD Only

(3) A, Band COnly

(4) Band D Only

Options :

42558917400. 1
42558917401. 2
42558917402. 3
42558917403. 4



Question Number : 37 Question Id : 4255894479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gfaqor Tl st qer # ST Trensd § CO, H Wh<w i o7fuE T2
A, I Tieny # ym-fiE sfuw g
B.  Gfeor e W HeTan SAEF T |
C. =udl Tirend # Sfawy fum e1fues e €
D.  <f&or Tirensl st qern # Sad e sifue gve €

A= feu o fasred # T W@ IO
(1) aa AR C

(2) @%ad B, C #iR D

(3) HaA A, B3R C

(4) e B B D

Options :

42558917400. 1
42558917401. 2
42558917402. 3
42558917403. 4

Question Number : 38 Question Id : 4255894480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Increasing the ratio of fissile Uranium (U-235) in natural uranium is known as :
(1) Enhancement
(2) Concentration
(3) Accumulation
(4) Enrichment
Options :
42558917404. 1
42558917405.2

42558917406. 3
42558917407. 4

Question Number : 38 Question Id : 4255894480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wkfaek e ¥ fagea 1y (3235) % A9um &1 gy e | | fmg w1 8 S e © 2
1 wifs

(2) HE=m

(3) H=EA

“ w3
Options :

42558917404. 1
42558917405. 2
42558917406. 3
42558917407. 4



Question Number : 39 Question Id : 4255894481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from initial to final, of surface waste water treatment ?
A.  Disinfection

B. Sedimentation

C.  Filtration

D.  Screening

Choose the correct answer from the options given below :
(1) A BCD

2 A BDC

3} D;B:.AC

4 D,BCA

Options :

42558917408. 1
42558917409. 2
42558917410. 3
42558917411. 4

Question Number : 39 Question Id : 4255894481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el UM STel SYER 9 STRIYE § oifaw, Tef o wn e ?

A, ToEsEm

B. HawEEA

C. freued

D. GRIT

1 fau o fasredi o | wWé s A -

(1) ABCD
(2) A BD,C
(3) D,BAC
(4 D,B,C A
Options :
42558917408. 1
42558917409. 2

42558917410. 3
42558917411. 4



Question Number : 40 Question Id : 4255894482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are differences between Modified Mercalli Scale (MMS) and Richter Scale
(RS) ?

A. RS measures the energy released while MMS measures both energy and devastation
B. RS uses linear scale while MMS uses logarithmic scale

C.  Value of RS is constant in an earthquake while MMS varies depending upon distance
D. Levels in RS is more than MMS

Choose the most appropriate answer from the options given below :

(1) Aand BOnly

(2) Band COnly

(3) Cand D Only

(4) A and C Only

Options :

42558917412. 1
42558917413.2
42558917414. 3
42558917415. 4

Question Number : 40 Question Id : 4255894482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TN ALehell Thel (TH TH TF) AR T ©hel (31 TH) & o9 #=1-31 dAa €7

A. ¥ UY Hifad el & HYal § SefE TH Uy vy Sei T Iw9ed S i HIal B

B. IR UY L&Y THel T WA FAl © Tl TH UH U9 AR 0 Shet 1 WERT e ¥
C. b9 ¥ 3R TH & AH feer 2 & sEfe w7 wn vy # it % SER fiea 3 2

D. TUH UY TH F 37947 3R 09 H T 2774 24 2|

= feu o fomredi O | W@ SR A -
(1) ©oFaa A JARB
(2) FFABERC
(3) oEa C 3R D
(4) FEA A ARC
Options :

42558917412. 1
42558917413.2
42558917414.3
42558917415. 4



Question Number : 41 Question Id : 4255894483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In an ancient period, the Diksha Guru performed his duty as :
(1) Guru of secular subjects

(2) Spiritual guide for both girls and boys
(3) Spiritual guide of boys

(4) Tutor

Options :

42558917416. 1
42558917417.2
42558917418. 3
42558917419. 4

Question Number : 41 Question Id : 4255894483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e H St TE % ®9 T o9 Felea 1 el wear o
(1) =@ o Feaet ol =1 7T o1

(2) TSfRAl 3T TASHI SHI 1 ATEATHE ANGYH ol

(3) IR H1 Ao ArTEIiE o

(4) SHEE (ZT0) F TG H 0 Fded F1 fHaed wa o

Options :

42558917416. 1
42558917417.2
42558917418. 3
42558917419. 4

Question Number : 42 Question Id : 4255894484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which international organization co-ordinates the education for all programme at the global
level ?

(1) UNDP
(2) UNESCO
(3) IMF

(4) UNEP
Options :

42558917420. 1
42558917421.2
42558917422. 3
42558917423. 4



Question Number : 42 Question Id : 4255894484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT ST e, Sfvas T W geres forw e sy &1 gued w8 2

1 AWIHR
@ TR

(3) o UH UH
4 Jwgd
Options :

42558917420. 1
42558917421.2
42558917422. 3
42558917423. 4

Question Number : 43 Question Id : 4255894485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the correct chronological sequence.
A.  Establishment of the University of Madras

B. Introduction of the Indian Universities Act

C.  Establishment of UGC

D.  First National Education Policy of India

Choose the correct answer from the options given below :
1y ABCD

2y A DCB

3) BCAD

4 C B AD

Options :

42558917424. 1
42558917425.2
42558917426. 3
42558917427. 4



Question Number : 43 Question Id : 4255894485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefafEa seT1eti 1 el ey H Sqaited Hifd |

A, WEY favafaEme™ & =

B. YRdE favafasmed sifufam & quEmE
C. fovafaerem =M @R (ST ) F T
D. 9Rd @ Yol Uiy foen Hifa

= feu o fosed § | wé A -

(1) A, BCD
2 ADGCH
(3) B,CAD
(4 C,B,A D
Options :
42558917424. 1
42558917425.2

42558917426. 3
42558917427. 4

Question Number : 44 Question Id : 4255894486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per National Education Policy 1986, the major functions of the National Apex Body are :
To allocate resources

To evaluate the examination system

To advise government on policy

To encourage inter-disciplinarily and promotion of interfaces among different areas.

mO0® e

To conduct research in higher education

Choose the correct answer from the options given below :
(1) A C EOnly

(2) B,D and E Only

(3) €, DandE Only

(4) A Cand D Only

Options :

42558917428. 1

42558917429. 2

42558917430. 3
42558917431. 4



Question Number : 44 Question Id : 4255894486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U T Hifa 1986 % STHR T Y fHepma (F9a T 91el) & 9qE % ©
A, HEYA A€fed FmE

B.  RI&T YUNE 1 oA HTA

C. ifd % Geiy ® ALER H TAE 1

D. s-fougsradl & sgen e &R fu=i-fa= &5 & sfaugei &t agen o
E.  3=a foan § 9y e

= feu U foskedi § | W& I A -

(1) & A, C,E

(2) %ad B, D 3RE

(3) %aa C, D3R E

(4) A A, C #RD
Options :

42558917428. 1
42558917429.2
42558917430. 3
42558917431. 4

Question Number : 45 Question Id : 4255894487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - 1T
(Name of the institutions) (Function)
A. NIEPA 152 Ensuring Quality
B. RUSA II.  Providing loans to higher education institutions
C. QAA I[II. Infrastructure development for upgrading the
existing colleges into model colleges
D. HEFA IV. Promoting Research in planning and management

Choose the correct answer from the options given below :
(1) A-L B-II, CI, D-IV

(2) A-lL B-II, C-MII, D-IV

(3) A-L B-1v, C1I, D-II

(4) A-IV, B-1II, C-1, D-II

Options :

42558917432. 1

42558917433.2

42558917434.3
42558917435. 4



Question Number : 45 Question Id : 4255894487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
Tt - 1

TEAT T A0
A, T EE 3 U () L
B. SRIWHT IL
C. HTUU ML
D. THETHT IV.
= feu T faepedi § 4 WE S A

(1) A-I B-III, C-II, D-IV
(2) AL B-, C-III, D-IV
(3) A-l B-1Iv, C-II, D-II
(4) A-IV, B-1Il, C-I, D-II

Options :

42558917432. 1

42558917433.2

42558917434.3

42558917435. 4

Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

gt - 11

Eap |

T[oTerl G A

Fea Toren st deenedi o B0 yeH S

HIS[g1 wTersl oh1 TR Ferehl TeY e (Hiee FHers) a1
ST AR Ya e | 9 1 AeEtfed wE

3
425589183
No



Question Id : 4255894488 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions .

Forced by circumstances and in search of success and status, educated young men and women
settle far away from their parents. Some go abroad. The very education that the parents manage
to give to their children turns against them in the end. Their children go away in search of green
pastures leaving them alone. International community as well as our government is aware of
their problems. The UNO proclaimed the year 1999 as ‘International Year for the Aged’. In our
own country too the year 2000 was proclaimed ‘The Year for the Aged".

Article 41 of our constitution clearly makes it incumbent on the state to look after the aged.
There is a social welfare ministry responsible for the welfare of the aged. Laws are made from
time-to-time to protect the rights of senior citizens. For example under law parents cannot be
evicted from a house without due process of law under section 105 of the Criminal Procedure
Code. A magistrate can order a person to maintain his/her old parents under the Maintenance of
Parents Act. The Hindu Adoption and Maintenance act says that the aged parents can demand
for maintenance from their children. The Domestic Violence Act also provides parents with the
rights to seek relief from any kind of abuse.

Sub questions

Question Number : 46 Question Id : 4255894489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to passage, who usually leaves their parents in lurch ?
(1) Disobedient wards

(2) Frustrated youth

(3) Career seeker children settled in distant places

(4) The ones who have job insecurity

Options :

42558917436. 1

42558917437.2

42558917438. 3
42558917439. 4

Question Number : 47 Question Id : 4255894490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The year 1999 was proclaimed as :
(I) National year for the aged

(2) Universal year for the aged

(3) International year for the aged
(4) SAARC year for the aged
Options :

42558917440. 1

42558917441.2

42558917442. 3
42558917443. 4

Question Number : 48 Question Id : 4255894491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



nder section of the criminal procedure code, parents cannot be evic rom a house :
Und tion 105 of tt al d d t t b ted f h

(1) Without due process of law

(2) In any situation

(3)  Without submitting their will

ess their property is transferred to their legal heir

4)  Unless their prop is transferred to their legal h
Options :
42558917444. 1
42558917445. 2

42558917446. 3
42558917447. 4

Question Number : 49 Question Id : 4255894492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is empowered to give order to the concerned for the maintenance of their parents ?
(1) A retired judge

(2) Thejudge of the High-Court

(3) Local Sarpanch

(4) A magistrate

Options :

42558917448. 1

42558917449. 2

42558917450. 3
42558917451. 4

Question Number : 50 Question Id : 4255894493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Act/Section does give parents rights to seek relief from any kind of
abuse ?

(1) Hindu Adoption and maintenance Act

(2) Section 105 of CPC

(3) The Domestic Violence Act

(4) Section 98 of CPC

Options :

42558917452 1

42558917453.2

42558917454. 3
42558917455. 4



Question Id : 4255894488 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freferfae et &t sargde o 3it uvw Hem @ & S e

g 9 faeet 2o SR her U qe-afatel i @re § e 7Ey SR Afeard 7o Hal- o € 55
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e o Tl € | 39 I=9 Get SOl 1 Erel § 3% ool 91 &d € | Sy auerd & WY- 9y el GUEr
IeR! THETS § uifad § 1 S T HWe A 9 1999 T Sfaim ggem o ' Hfa feren gar < H off = 2000
%1 oo od ' wifue foREn T o1 | SAR HiHH & ST Ess-41 H gasHi o fedl il a@uie o Ay T 1 e
ST ST T ¥ | TS oA WA ggerl & Fedm & fag saerdt ® | afte it % arferenl s geem
3 % o g 98 FH 99 S € | SeReond, #H & effa srafie < wfEar (L dd) #t ema-105
o i A i TE Yiwar & foe wra-foar &1 =) 9 SeEd T@l fFa S ekl | oo % o
e sifufm % sfmia afonee =afa 1 9% 95 ara-Toa 3 sXo-dmor 1 2ew € e ¢ 1 feg aae 8k
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Sub questions

Question Number : 46 Question Id : 4255894489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TP T SER i 3T T H e me-foa w S €2
(1) SRR s

(2 frwm g

(3) SE T W R = a9 =

(4) 9, TSR At STIiET §

Options :

42558917436. 1
42558917437.2
42558917438. 3
42558917439. 4

Question Number : 47 Question Id : 4255894490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a4 1999 =1 for| w9 7 =it ferzm simar a1 ?
(1) T FEe 9

(2) HEHHE gE=E 99

(3) SaUeg gge T

(4) EF (SAARC) g&sH a4

Options :

42558917440. 1
42558917441.2
42558917442. 3
42558917443. 4

Question Number : 48 Question Id : 4255894491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ArRIfere <2 Ufshan & UmI-105 & 3favia urar-Toar = =] ¥ SeEd T6l B o g
(1) =T i g9 gfwan & fom

(2) ToRdm off feafa #

(3) IR e W ferg fer

(4) T TF ITH TEUCT ITH FIA ARG H STafed T F & A

Options :

42558917444. 1
42558917445.2
42558917446. 3
42558917447. 4

Question Number : 49 Question Id : 4255894492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafiaa # § #m Heifua safaq o1 s Ar-faa & sRor-de 1 e <7 % for g &2

(1) HartTga =mnd
(2) S=A AT T AT
(3) TUHE THE
(4) wfe
Options :

42558917448. 1
42558917449.2
42558917450. 3
42558917451. 4

Question Number : 50 Question Id : 4255894493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea & | smaysFE afuf=mam fFa v & geioer | e 9 F fau qma-foa #1 sifier
WS FAVFTA & ?

(1) feg &k &R swo-dio sifufam
(2) HLELH = ¥0-105
(@) e o arfufm
(4) HHHF UR98
Options :

42558917452. 1
42558917453.2
42558917454. 3
42558917455. 4

Rajasthani
Section Id : 42558966
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 425589184
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 4255894494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

X foreT e wig 9§ @orar qr fifra Sel 7 e A er

1. RARTS I

2. R Waws

3 g9 HIEY

4. 09 faemy
Options :

42558917456. 1
42558917457.2
42558917458. 3
42558917459. 4

Question Number : 51 Question Id : 4255894494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
M fereT o i | ol wer A Sl § g A 22

1. AR I

2. R Waws

3 g9 HIEY

4. 09 faemy
Options :

42558917456. 1
42558917457.2
42558917458. 3
42558917459. 4

Question Number : 52 Question Id : 4255894495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T feTTer HATRET god ATEma) 3 WhET o ey 7 A1 &7

1. gfem

2 QOERY

3 TR

4. =MHeT
Options :

42558917460. 1
42558917461.2
42558917462. 3
42558917463. 4



Question Number : 52 Question Id : 4255894495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HieherTel TR Hotd AEmEr 3 W GuT forfy # Y @

1. ghRem

2. SOANTR

3 WY

4 FMH&ET
Options :

42558917460. 1
42558917461.2
42558917462. 3
42558917463. 4

Question Number : 53 Question Id : 4255894496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RMGTRIHT Bl # WRel B 3R WA # WIS W G arelt O 5oy @rdy &7

1. gare!
2. HW@dT
3. ¥y
4, HARATS!
Options :

42558917464. 1
42558917465.2
42558917466. 3
42558917467. 4

Question Number : 53 Question Id : 4255894496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR BT ¥ WRS] B 3R YA H WS I G @rel 3 gofy @rdr 87

1. gare!
2. W@l
3. ¥y
4, HRATSI
Options :

42558917464. 1
42558917465.2
42558917466. 3
42558917467. 4



Question Number : 54 Question Id : 4255894497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e qrEdTel 3R U e { agwEEs TEa) G drel 7 Y 57

1. oI
2 gerel
3. HAmdr
4, AETSY
Options :

42558917468. 1
42558917469. 2
42558917470. 3
42558917471. 4

Question Number : 54 Question Id : 4255894497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

| qrEdTe 2R SUR e 3 g =GR arel 71y = 87

1. BIEMT
2 gerel
3. HAmdr
4, AR
Options :

42558917468. 1
42558917469. 2
42558917470. 3
42558917471. 4

Question Number : 55 Question Id : 4255894498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e JRING e TEmer—arr 31 fagar ff g—

3 TH TETTCHS DI T |

SUH S 9 ST AWl EXe RUT I gl H SR gadiel g |
IR U HET 171 B |

SURT WeTeT fd ¥ 1982 ¥ AT 2|

Options :

42558917472. 1
42558917473.2
42558917474. 3
42558917475. 4

oW N



Question Number : 55 Question Id : 4255894498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

wfe gRe™ g Rra—arr 3 fagmar 9 g

3T Uk UEICHSG BT B |

SR S ¥ T Al BXE RO ] @l A AR gaEeT B
U U HWHT 171 |

IURT yeTeT fd W 1982 ¥ gAT B |

Options :

42558917472. 1
42558917473. 2
42558917474. 3
42558917475. 4

it

Question Number : 56 Question Id : 4255894499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR H H@l 3R Hell qae I 3R FALT §—

<1 fasE, arre
STHNDS, Tl
IS, 7 e
4, YHATel, STHLRT
Options :
42558917476. 1
42558917477. 2
42558917478. 3
42558917479. 4

N

Question Number : 56 Question Id : 4255894499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ARSI H Hol R Hell qe I 3R FHAL. go—

<1 fasE, arre
STHNDS, Tl
IS, 7 e
4, YHATel, STHLRT
Options :
42558917476. 1
42558917477. 2
42558917478. 3
42558917479. 4

N



Question Number : 57 Question Id : 4255894500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST WA WS § gUIV] dI@] AradrE ] 6 96 o

1. 9S%
2. oo
3 HSH
4 WER
Options :

42558917480. 1
42558917481.2
42558917482. 3
42558917483. 4

Question Number : 57 Question Id : 4255894500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST WA WS § gUIV] dI@] AradrE ] 6 96 o

1. =B
2 fAawrd
3. HSE
4 WER
Options :

42558917480. 1
42558917481.2
42558917482. 3
42558917483. 4

Question Number : 58 Question Id : 4255894501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Heanere fehar ¥ er@e B—

S s v e s s )

2. Y SrEdr &l

3 HRI gedl df U g4 Siad!
4. 9 TG W1 WRI

Options :

42558917484. 1
42558917485.2
42558917486. 3
42558917487. 4



Question Number : 58 Question Id : 4255894501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Heharefd fhar 91 sl 32—

S e s v s

2 g SrEdr ol

3. HRI ggdl dl uTd g5 Sad!
4. 9 9GO WXl

Options :

42558917484. 1
42558917485.2
42558917486. 3
42558917487. 4

Question Number : 59 Question Id : 4255894502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I BIRTCNET ATGIGY Jore 3ffaerer & THI—H Ml o—

1. T 1080 %. ¥ 1450 3.
2 ¥ 1200 ¥ ¥ 1880 fa
3 ¥ 1047 ¥ 1460 &

4 ¥ 1000 ¥ 1600 fo
Options :

42558917488. 1
42558917489. 2
42558917490. 3
42558917491. 4

Question Number : 59 Question Id : 4255894502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

€T BIRTCNET A Hold 3aera & FHI—HHT o—

1. W 1080 E. ¥ 1450 I
2 ¥ 1200 9 ¥ 1680 fa
3 ¥ 1047 ¥ 1460 fo

4 ¥ 1000 ¥ 1600 T2
Options :

42558917488. 1
42558917489. 2
42558917490. 3
42558917491. 4



Question Number : 60 Question Id : 4255894503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"SR 9 9 &40, U Sol U |
e # fag % e A, Wa # 79 H @i ||
3t qE1 e wf ¥ 2

1. Fre—gfa

2. UH$ AT

3 YR {9

4, RSET 1 WReT
Options :

42558917492. 1
42558917493. 2
42558917494. 3
42558917495. 4

Question Number : 60 Question Id : 4255894503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"SR 9 9 &40, U Sol U |
fea # o # gI H, @a # A7 H @i | |”
a1 g HUR R

1. Fre—gfa

2 U9 ara

3. R {9

4 SIRFET 1 ARG
Options :

42558917492. 1
42558917493.2
42558917494. 3
42558917495. 4

Question Number : 61 Question Id : 4255894504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“gE} § urgry {1 goel, A wolt S wedt | oo wh e <q X W S yoe off e suesr gE | oy el
HEAT & HOT BI | TR SA SrelT vt gl H o ok w1

v et gud ara | gy 2—

1. ST AW 9 A
2. XTI HEEET ¥ e
3. TS AT < A
4. AT A Y are
Options :
42558917496. 1
42558917497. 2
42558917498. 3
42558917499. 4



Question Number : 61 Question Id : 4255894504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“SEY H Ul 3 goel, A gl wel wed| O wH e <9 ¥ 9T 9a) e of, O SueN g1 | ay vgel
FHEAT & FUI Bl | AN FaT el US| H o afar v

¥ aifesat U O ¥ e 8-

1. NI IS 9 A
2. I HEITT ST A
3. dF AT Y 9
4, T | X AT
Options :
42558917496. 1
42558917497. 2
42558917498, 3
42558917499, 4

Question Number : 62 Question Id : 4255894505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oY AR STorrel] AT AR AN A TS =@ BT =@ Ha A 27

1. Gl SMEl

2 T e

3 RIS B

4, THRETH
Options :

42558917500. 1
42558917501. 2
42558917502. 3
42558917503. 4

Question Number : 62 Question Id : 4255894505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oY AR STorrel] AT AR AN A TS =@ BT =@ Ha A 27

1. Gl SMEl
2 T e
3 RIANS B
4, TR
Options :

42558917500. 1
42558917501.2
42558917502. 3
42558917503. 4



Question Number : 63 Question Id : 4255894506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT 1498 A TF =1 o) 57

1. hld THOT AT

2. HTd® g aad

3 HE Ifas

4 SEST R
Options :

42558917504. 1
42558917505. 2
42558917506. 3
42558917507. 4

Question Number : 63 Question Id : 4255894506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
I fivg 79 v <= feory 87

1. hId THEI AU

2. HTa® i A

3 g Iwfaas

4 3@qT qR
Options :

42558917504. 1
42558917505. 2
42558917506. 3
42558917507. 4

Question Number : 64 Question Id : 4255894507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR W wEeT W A 2

1. ORI
2. THTETH
3 e
4 g
Options :

42558917508. 1
42558917509. 2
42558917510. 3
42558917511. 4



Question Number : 64 Question Id : 4255894507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR W wEeT W A 2

1. ORI
2. THTETH
3 e
4 BN
Options :

42558917508. 1
42558917509. 2
42558917510. 3
42558917511. 4

Question Number : 65 Question Id : 4255894508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS ST Y@= difecd 3 379 6ol 31—

1. faxf soo ¥ 1460 @
2 Td9 1080 ¥ 1450 T
3 fd¥ 1000 ¥ 1400 T
4 fa¥ 1200 ¥ 1680 i
Options :

42558917512. 1
42558917513.2
42558917514. 3
42558917515. 4

Question Number : 65 Question Id : 4255894508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR ST WO e 3 37T STl A—

1. fa¥ oo ¥ 1460 TTH
2 fd¥ 1080 ¥ 1450 T
3 fa¥ 1000 ¥ 1400 T
4 109 1200 ¥ 1550 T
Options :

42558917512. 1
42558917513.2
42558917514. 3
42558917515. 4



Question Number : 66 Question Id : 4255894509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAeTTaeTs yares’ Y& ¥ 4@ EIR HUH! 6 87

1. AR arRgard

2. WU EER An

3. HfoaRI B

4 wfferE el
Options :

42558917516. 1
42558917517.2
42558917518. 3
42558917519. 4

Question Number : 66 Question Id : 4255894509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faeTTaeTs garss’ 3= 3 A% SRR HOH 6 &7

1. AR arRgard

2. WY BER dg

3. AfcaHR we

4 wIferE B!
Options :

42558917516. 1
42558917517. 2
42558917518.3
42558917519. 4

Question Number : 67 Question Id : 4255894510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Hug Mg Td B} Brol, TS fowy g
A TR BeTell BT, GH droil gYaTd | [
e fordt atfesar feror woremT wa & 27
1. SEARI o

2. SfocAR o
3 Xooig o

4 oTCTeTd ol
Options :
42558917520. 1
42558917521.2
42558917522.3
42558917523. 4



Question Number : 67 Question Id : 4255894510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Hag ¥ T BN dro, A9 fFwm e
A TR BeTell BT, GH droil gYaTd | [

e fordt atfesar feror woremT wa & 27
1. SEARI o

2. SfocAR o

3. Yoo ol

4, T G

Options :

42558917520. 1
42558917521.2
42558917522.3
42558917523. 4

Question Number : 68 Question Id : 4255894511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S o =TT A ¥ HTHT 2] SER SgTeard Herdd & Al -

1. Ui weugH

2 EEREEEm

3. dIpFT ¥ Iorel {1 @
4 Higare 31 wE
Options :

42558917524. 1
42558917525.2
42558917526. 3
42558917527. 4

Question Number : 68 Question Id : 4255894511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S ford =TT 7 ¥ O T2 SR SgTear Redd & N -

1. AN HeugH

2. <g—guu

I - g e A F R A
4 Hfeare 3 T
Options :

42558917524. 1
42558917525.2
42558917526. 3
42558917527. 4



Question Number : 69 Question Id : 4255894512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HEwEE [ORfEa wed HeRr 7Y (e Wl § R gd?

1. TONg

2 =

3. Mg

4. IS
Options :

42558917528. 1
42558917529.2
42558917530. 3
42558917531. 4

Question Number : 69 Question Id : 4255894512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S

HEwEE [ORfEa wed HeRr 7Y (e Wl § Wy gd?

1. TONRg

2 St

3 ¥a

4. IS
Options :

42558917528. 1
42558917529.2
42558917530. 3
42558917531. 4

Question Number : 70 Question Id : 4255894513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
afer FoFeT Semull 7 i I wuree e’ gl fAgT I §18 {4 wET A Al g

1. gadl SRRy

2 GHH URS

3 HURRM ATHRAm

4  TIH TARE
Options :

42558917532. 1
42558917533.2
42558917534.3
42558917535. 4



Question Number : 70 Question Id : 4255894513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

qfer Tohee Sepmull & Hicr I Wures dRU gl (9RO §8 9 Wel A Al o—

1. WolUl eHed

2 gIH UG

3 HURCRM ATHRAm

4  TIH TARE
Options :

42558917532. 1
42558917533.2
42558917534. 3
42558917535. 4

Question Number : 71 Question Id : 4255894514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et fAwer Fam T Sftdr 9 [gAeN o—
e ot

HEAOTRIE IMaTad

4, VRIS AT SRS

N

Options :

42558917536. 1
42558917537. 2
42558917538. 3
42558917539. 4

Question Number : 71 Question Id : 4255894514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et fdeT T I HEar I @EeR a—
e T

HEATUTRIE T

4, IURERTTel 4T &Gdla

N

Options :

42558917536. 1
42558917537. 2
42558917538. 3
42558917539. 4



Question Number : 72 Question Id : 4255894515 Question Type : MCQ Option Shuffling
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IO AT HIFU o TR {7 A1 S0 | ded—

1. HERTE ST IHE
2 HERM o i
3.  HeNNThHAN B
4 g&T T Hrais
Options :

42558917540. 1
42558917541.2
42558917542. 3
42558917543. 4

Question Number : 72 Question Id : 4255894515 Question Type : MCQ Option Shuffling
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
THIORTSAT AT HIU o TIHRDY T AT B A FRd—

1. WERIT ISl AT
2 HEN ol gEIiiE
3 WERTSEAR W
4 &Y e WaiE
Options :
42558917540. 1
425589175412
42558917542. 3
42558917543. 4

Question Number : 73 Question Id : 4255894516 Question Type : MCQ Option Shuffling
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

'AUES ARG HH HIE I WATPR o—

1. UNE 3N=l

2. TRGANE I

3. dRYGRI QO

4, YATECTCTSl T
Options :

42558917544. 1
42558917545.2
42558917546. 3
42558917547. 4

: No Display Question Number : Yes Is

: No Display Question Number : Yes Is

: No Display Question Number : Yes Is



Question Number : 73 Question Id : 4255894516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

'AUES ARG HH HIE I WATPR o—

1. UNE 3N=l

2. TRGANE I

3. dRYGRI QO

4, ATA AT T
Options :

42558917544. 1
42558917545.2
42558917546. 3
42558917547. 4

Question Number : 74 Question Id : 4255894517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I ferdY dient Wi § T FeHer g 9 ergfad o 8-

1. AR

2. Has

3 H@ H FHIOl

4, IR
Options :

42558917548. 1
42558917549.2
42558917550. 3
42558917551. 4

Question Number : 74 Question Id : 4255894517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S oY Ot A ¥ HUR ARy <qel 91 rjad a8

1. TH

2. Dae

3 H@ H FHIOl

4, IMOATE
Options :

42558917548. 1
42558917549.2
42558917550. 3
42558917551. 4



Question Number : 75 Question Id : 4255894518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IR T5AT I FHET WRE] de d EHel ! T A g

1 g
2 faem
3. W
4. YNl

Options :

42558917552. 1
42558917553.2
42558917554. 3
42558917555. 4

Question Number : 75 Question Id : 4255894518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HTER GEAT {1 HETO TR e o1 EHE T < A -

1 e
2. fa=m
3
4. YNl

Options :

42558917552. 1
42558917553.2
42558917554. 3
42558917555. 4

Question Number : 76 Question Id : 4255894519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“RITOT, GeTiT T TR ey M H B R ARAT UY AT 99 ¥ £, 3 vee—8d W wg | WY ¥ Wl Suard
H 3T I H{UET U DY TEAT 87

1. NHGTH HalEN
2. EETH

3 g Hl

4 L35 A7 T8
Options :

42558917556. 1
42558917557.2
42558917558. 3
42558917559. 4



Question Number : 76 Question Id : 4255894519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"IN, G fhT U oY e H BT R R WY AT oF ¥ B, & vFu-dd ¥ ew [ Hd ¥ eE! S
H 3 g B U B T5AT oF

1 AT HElI
2 j:
3. UgH
4 ﬂ
Options :

42558917556. 1
42558917557.2
42558917558. 3
42558917559. 4

Question Number : 77 Question Id : 4255894520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR IAT T Ui W s Ser Y uTE 7 ¥ 89 0 a—

1. wgEE
2. HAIOH
3. SR
4 MW
Options :

42558917560. 1
42558917561.2
42558917562. 3
42558917563. 4

Question Number : 77 Question Id : 4255894520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR IAT T Ui W s Ser Y uTE 7 ¥ 89 0 a—

1. wgEE
2. HAIOH
3. SR
4 MW
Options :

42558917560. 1
42558917561.2
42558917562. 3
42558917563. 4



Question Number : 78 Question Id : 4255894521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

<1 fehvur Areer god WHEE ] G HUET Aed el Wl

1. HEMT @ s

2. ARATS! AR

3. Bl "AXgu

4, IFH TS H AG
Options :

42558917564. 1
42558917565.2
42558917566. 3
42558917567. 4

Question Number : 78 Question Id : 4255894521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

<1 fevuT Areer god WHAE §16 G HUET Aed dhel Wl

1. HEMRT @ s

2. TRArS! AR

3. @Iell HYau

4, IFH TS H AG
Options :

42558917564. 1
42558917565.2
42558917566. 3
42558917567. 4

Question Number : 79 Question Id : 4255894522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AE—&= ¥ YA I AT T

1. fe=AEr
2. TRET
3. ulodll
4. =@l
Options :

42558917568. 1
42558917569. 2
42558917570. 3
42558917571. 4



Question Number : 79 Question Id : 4255894522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HE—aF ¥ 4H AT o

1. faolt
2. RS
3. Sledl
4. TRG@I
Options :

42558917568. 1
42558917569. 2
42558917570. 3
42558917571. 4

Question Number : 80 Question Id : 4255894523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SRS ATBCl STl ¥ WA 3’ SU Hefel| Wiiecd M ¥ Wl §R G ware < Al 8—
1. FERGE A

2 ghagls ar e o

3

. T TR o
4 AT
Options :

42558917572. 1
42558917573.2
42558917574. 3
42558917575. 4

Question Number : 80 Question Id : 4255894523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IFREE ATECT WA ¥ WY 3R 90T el ey ey 37 AR o) | ware A1 Aar 8-

1. HARSE o
2 ghagls ar e o
3. uTfHe o o
4. g_TeE
Options :

42558917572. 1
42558917573.2
42558917574. 3
42558917575. 4



Question Number : 81 Question Id : 4255894524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘doie |re WA HAT AW Suge AFUET A8 U AW e

1. [IBHI URIEH

2. TavEE HEOT

3 T BT SuTE

4 HF THTS o
Options :

42558917576. 1
42558917577.2
42558917578. 3
42558917579. 4

Question Number : 81 Question Id : 4255894524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘doie |re WA HAT AW Suge AFUET A8 U AW e

1. B URIH

2. SAvEg Henuly

3 € H{UINT SuTy

4 HE THde o
Options :

42558917576. 1
42558917577.2
42558917578. 3
42558917579. 4

Question Number : 82 Question Id : 4255894525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ST W 9 @R S AT

1. ETeTUT WGl Ug—TafT
2. fammen
3. ot
4. SRET
Options :

42558917580. 1
42558917581.2
425589175823
42558917583. 4



Question Number : 82 Question Id : 4255894525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SU A G HT S AT e

1. @leTv] dlesl Ug—UafT
2. fa\mm
3. Uyt
4, IR
Options :

42558917580. 1
42558917581.2
42558917582. 3
42558917583. 4

Question Number : 83 Question Id : 4255894526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 3T AR AL —
1. TTH
2 U H
3. Hear ®
4, TATOT H
Options :

42558917584. 1
42558917585.2
42558917586. 3
42558917587. 4

Question Number : 83 Question Id : 4255894526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AIEN 3 HRT AL —
1. TTH
2 U H
3. Hear ®
4, TATOT H
Options :

42558917584. 1
42558917585.2
42558917586. 3
42558917587. 4



Question Number : 84 Question Id : 4255894527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

jIole weerra] I TRATATE HUE TG G A I 7

1. SdcHle

2. TTRH

3. fHam

4. AMTe
Options :

42558917588. 1
42558917589.2
42558917590. 3
42558917591. 4

Question Number : 84 Question Id : 4255894527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TGS Healal] 1 TR HUR 1§ 3, Heo IR 7

1. ShEelle

2. TRH

3. TRamw

4. AMTe
Options :

42558917588. 1
42558917589. 2
42558917590. 3
42558917591. 4

Question Number : 85 Question Id : 4255894528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG T AT, AIeed 3R HeEpo vl Rl 6—

1. WERISN AFRE [WRE TH T ©g, STHHy
2  HERMT AFRE JWRIS W R &e, SR
3. HERIS SEHs (&S HHrEl Ik b, S
4 HERTS YT Yedd WaTel e Hg, UREqay
Options :

42558917592. 1
42558917593.2
42558917594. 3
42558917595. 4



Question Number : 85 Question Id : 4255894528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG T AT, AIeed 3R HeEpo vl Rl 6—

1. WERISN AFRE [WRE TH T ©g, STHHy
2  HERMT AFRE JWRIS W R &e, SR
3. HERIS SEHs (&S HHrEl Ik b, S
4 HERTS FIRT GRTd WeTel T0e ®Ha, UREqwR
Options :

42558917592. 1
42558917593.2
42558917594. 3
42558917595. 4

Question Number : 86 Question Id : 4255894529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
R0 &gTa § A7 A W @ SR AT AaX-, QU Shdl—

1. SCT—HICT =47d

2. AR—geT &

3 OA9T &g

4 Scaar &g
Options :

42558917596. 1
42558917597.2
42558917598. 3
42558917599. 4

Question Number : 86 Question Id : 4255894529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oo =g & Y 1 98 @ AW AT AT, SUH ha—

1. SCT—HICT =47d

2. AR—geT &

3 OA9T &g

4 Scaar &g
Options :

42558917596. 1
42558917597.2
42558917598. 3
42558917599. 4



Question Number : 87 Question Id : 4255894530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e et ¥ wae § UHEE R wERE 6 o)

e it ¥ urs < ferat

e At ¥ v 3 et

RETrer e # Wgad SreITa s
4. fEwrer i # R gwom

Options :

42558917600. 1

42558917601. 2

42558917602. 3

42558917603. 4

WM

Question Number : 87 Question Id : 4255894530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e et ¥ wae § UHEE R wERE 6 o)

e |r ¥ urs < fAfert

f&mer At ¥ v < fafdar

RETer M H wed TRITedR
4, fETer AT # SRIT 970ma

Options :

42558917600. 1

42558917601. 2

42558917602. 3

42558917603. 4

W oM

Question Number : 88 Question Id : 4255894531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TSI BaRIE X1 37TST ar0il |4 ST 920 H SreidR] ARl Hay] d9] R fawe ¥ avoa faor ¥2r 4 el

1. THRE VoA @ fire—uar ¥

2. SSUNW & Bid B S H

3. B g U@ RREr 3

4 HEWMA WA FHA GRS wOH A IAOH
Options :

42558917604. 1
42558917605. 2
42558917606. 3
42558917607. 4



Question Number : 88 Question Id : 4255894531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RTSTRITT BaTE ¥ 37TST aroll AT 7 920 H Sreler] ARl ey, 4461 3R 9% | avorg fdor 121 4 iRl

1. gHREE v @a fre—ue #§

2 TEINW FT Hi @ R H

3. TR g U@ R §

4. HYNM WA FHA IR w06 A@ IAH
Options :

42558917604. 1
42558917605. 2
42558917606. 3
42558917607. 4

Question Number : 89 Question Id : 4255894532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 9T o W@ HETRadl ¥ T=EE 3 SUfAue 70T 9 ST §—

1. HHC

2 FH WeE

3 T

4 FFEdET
Options :

42558917608. 1
42558917609. 2
42558917610. 3
42558917611. 4

Question Number : 89 Question Id : 4255894532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I T o W@ HETROdT ¥ T=ET 3 SUANe 50T 96 ST §i—

1. HHC

2 FH WeE

3 T

4 FFEdET
Options :

42558917608. 1
42558917609. 2
42558917610. 3
42558917611. 4



Question Number : 90 Question Id : 4255894533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“fary 21 @ fae oo, faRrar T @
SaY R | S, A1 S %t oo |
AT A6 T &, ®T a9 9 T
a0 @7 |l A, 7 Ue T a1
R fordT sifesar fopor g # 2=a &7

1. HHTT

2. S

3. T

4. foo go®
Options :

42558917612. 1
42558917613. 2
42558917614.3
42558917615. 4

Question Number : 90 Question Id : 4255894533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“fore B & 3 S, fawrar 7 @ |
Fa {7 S, T 9 o |
AT A6 T &, ®T a9 9 T
a0 @7 |l A, 7 Ue T a1
R fordT sifesar fopor g # 2=a &7

1. HHHTT

2 Ao

3. ot

4. foo go®
Options :

42558917612. 1
42558917613.2
42558917614.3
42558917615. 4



Question Number : 91 Question Id : 4255894534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TUEATE X7 G o Yo ¥ wEel hH H @aieid @
T
v
et
=T
. Fw
1 e et #ig | T8 = goi-
1. E,D,B,C. A
2. E,D,AB,C
3. E,D.C,A,B
4. E,D.C,B.A
Options :
42558917616. 1
42558917617. 2

42558917618. 3
42558917619. 4

moON® >

Question Number : 91 Question Id : 4255894534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TUHTET ¥ T o Y ¥ veen ®mE H oaied @e—
A, T T
B. 7 a7
C. &7
D
E

4. E,D,C,B, A
Options :
42558917616. 1
42558917617. 2
42558917618. 3
42558917619. 4



Question Number : 92 Question Id : 4255894535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A e et J 9o a3 ¥ Wi 3 Ul ¥ gl Ofs ¥ el B o
A. =geRE
B. fwwe™
C. e
D. gx&n el
E. #ermen Amfde
4% feirer Rrweat 7 ¥ W SR o
1. D,B,E,C, A
2. B, E, DA, C
3 CABDE
4. D,B,C,AE
Options :
42558917620. 1
42558917621.2

42558917622. 3
42558917623. 4

Question Number : 92 Question Id : 4255894535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT fomeT =R ¥ Wod 439 ) <16 9 Ul ¥ wEdl ais I WEl HH a—
A. =E

B. dwvera

C. FaEH

D. gz&1 arel

E. AgwIen #FiE

1. D,B,E,C, A

2. B, E, D A,C

3 GARBRDE
4. D.B,C, AE
Options :
42558917620. 1
42558917621.2
42558917622. 3
42558917623. 4




Question Number : 93 Question Id : 4255894536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

wiforag I, Riforvs wfdd, wIforie w0 ®ferde B, RITME I YEal ¥ wEaR ¥ gl € dell
3 B B B
A, 9ITgs
B. #&ad
C. drre HIerend
D. dmgeEr 9
1 fearer Rt 7 | Y TR -
. 4B, C.D.E
2. B.C.D.E A
3. C,D,E.AB
4. E,A,B,C.D
Options :
42558917624. 1
42558917625. 2

42558917626. 3
42558917627. 4

Question Number : 93 Question Id : 4255894536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RIfCTYE AT, RICHE Hidd, RIfoMs BT, RICHE Be, RICHs Y ==l ¥ EHraR 1 gEel § U
3 WET W B
A. IO
B. #wad
C. = HIrarg
D. 9MHeT 91
i e Aot g | @t ST gon—
1. AB,.C,D.E
2. B,C,D,E, A
3. C,D.E.A, B
4. E,A,B,C,D
Options :
42558917624. 1
42558917625.2

42558917626. 3
42558917627. 4




Question Number : 94 Question Id : 4255894537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ENEE RV, TEHE UEATG ] 910%, Sod—aai®], 9d dadd ¥ @Ud, AFaard WiE 9 aH-a 3 Aiekdd

w0 {1 <o ¥ Uel 9 oEcl! el mH 8-
TS Herie ey

clifehen Haid Py

UrTfiTes 3R eMfier el
ciffdres Wael HIed
. UfEIfe mEe Ee
2 e R wig g wd oo goi-
1. &B:D.EC
2. B,AE,C.D
3. C,D.B.AE
4. D,C.AE., B
Options :
42558917628. 1
42558917629. 2

42558917630. 3
42558917631. 4

MY nep

Question Number : 94 Question Id : 4255894537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ENER ORIV, TEHY UEATG] 910, Sd—gwiel, q dawid ¥ @Ud, AFaard WiE 3 qE 3 Askdd
|qEU ¥ &6 I Uel § 9o Ael W -

UCTBT S Hadd B

clifehen Harieh I

Ui W enfie &y

cllfdhds Ueel HIey
. UfE® mEE we
4 feairer Rret W ¥ WY SR oI
1. ALB,D.E,C
2 Baask O
3. CD,B.AE
4. D.C,AE,B
Options :
42558917628. 1
42558917629. 2

42558917630. 3
42558917631. 4

Mg nwp



Question Number : 95 Question Id : 4255894538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

STt S {1 &6 g W8l A 5 (Ul ¥ v
A. TgEITe
B. @ aered
C. od =Rure™
D. et
E. sfem i
L. BB, E, €A
2. A,B,D,E,.C
33 D.E.B,AC
4. EED,B, A, C
Options :
42558917632. 1
42558917633. 2

42558917634. 3
42558917635. 4

Question Number : 95 Question Id : 4255894538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o AW ¥ €IS Y Wel A t— (Ul ved)
A. TIgEaTe

B. @ e
C. & =Rue™
D
E

1. D,B,E,C A
2 ABIVEC
3 D.E. B A€
4. E,D,B,A,C
Options :
42558917632. 1
42558917633. 2
42558917634. 3
42558917635. 4



Question Number : 96 Question Id : 4255894539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frt foredy et & wEE @ 3 < § we w9 2 (Ut | wEelt ai)
A. A=
B. zrqaer
C. T=AdR
D. gl wmi
E. fdax
1. A,B,D.E,C
2 BACED
3 €A DB.E
4. D,C, A, B.E
Options :
42558917636. 1
42558917637.2
42558917638. 3
42558917639. 4

Question Number : 96 Question Id : 4255894539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I¥ fordY =Tt [ uEE Tl 3 |6 Y wel @9 o— (UelT ¥ weel! 9)
A. 9@
B. zrqaer
C. w=Hdr
D. gt sl
E. v
1. A,B,D,E,C
2. B.A,C,E.D
3. C,A,D,B,E
4. D,C,A B.E
Options :
42558917636. 1
42558917637. 2
42558917638.3
42558917639. 4




Question Number : 97 Question Id : 4255894540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
M A ¥ A I FE BH o (Ul § wE d3)
A. aim
B. o=
C. fuurge
D. gum
E. @l ot
A e et wiw g o€ SR gon—
1. AD.B.E,C
2 B DAE
3. AB,C,D,E
& DC.B AE
Options :
42558917640. 1
42558917641. 2
42558917642. 3
42558917643. 4

Question Number : 97 Question Id : 4255894540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

R W Y SR ¥ Wel e g (Ul § wEel an)
A, 3@

B. @

C. famree

D. o

E. S&HulT o

W faer Rt wig g W) o goi-
1, A DB EC

2. B.C.D.A.E

3. AB.C,D.E

4. D.C,B.AE
Options :

42558917640. 1

42558917641.2

42558917642. 3

42558917643. 4



Question Number : 98 Question Id : 4255894541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frt forer =TT ¥ Som avw 3 <6 9 wel wmE - (U g vl o)

HERTS el

RERTHE BTSl

A ]

BT E TeTad

fereiy woaTaid

A,B.E,C,D

B.C.E.D, A

E.C,D,B, A

A.C,E,B,D

PR R SROORp

Options :

42558917644. 1
42558917645. 2
42558917646. 3
42558917647. 4

Question Number : 98 Question Id : 4255894541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A fore e X oed 9 9 916 ¥ W w9 o— (Ul g o)
HERTS el
RERTARIE BTS
TS TA
HETOTHE AT
[EZUSiCTeRIEan|
fairer et At | WY SR Yo
A,B,E,C,D
B, C.E. D, A
E.C.D,B, A
A,C,E,B,D
Options :
42558917644. 1
42558917645.2

42558917646. 3
42558917647. 4

AR CSmpO®p



Question Number : 99 Question Id : 4255894542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rreee iR X @l ¥ TEe @ 3 @ § wel w9 2 (e | gwel aiF)
Hey faems
FID YR
el & S
WHICH STl
. fasrie wamwit
. &:B. E, €D
2. A,C,D,E.B
3. B.D,E A C
4. D,E,B,C, A
Options :
42558917648. 1
42558917649. 2

42558917650. 3
42558917651. 4

mo0E

Question Number : 99 Question Id : 4255894542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rre=e =i & vt ¥ yen @ 3 S 3 "ol w9 o— (U ¥ gEel Oi3)
A, EER [ders
B. &% gs¥
C. ggmr & ¥
D. wesr Sele
E

1. A,B,E,C.D
2 ACDHDER
3. BD,E A,C
4. D.E,B.C, A
Options :
42558917648. 1
42558917649. 2
42558917650. 3
42558917651. 4



Question Number : 100 Question Id : 4255894543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frt foredt worRre YeEEt ¥ yhee @ ¥ <6 g we @ o (U 9 wEe aiF)

A. = fEmT

B. 72 &l

C. sftgmr

D. #gg®

E. grerde

1. A,B,C,E.D

2. B.C,E.D. A

3. C.D.AB.E

4. ELA.D.B.C
Options :
42558917652. 1
42558917653. 2

42558917654. 3
42558917655. 4

Question Number : 100 Question Id : 4255894543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I fordY SR vt ¥ e & I wle 3 el wH o— (U 9 gEe o18)

A. @1 a1

B. = dFh

C. sftrmr

D. wHaega

E. grerde

1. A,B,C.ED

o BC.E DA

3. C.D,A B.E

4. EEA,D,B,C
Options :
42558917652. 1
42558917653. 2

42558917654. 3
42558917655. 4




Question Number : 101 Question Id : 4255894544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR G {1 = ¥ UERE did 3 <16 Y W8l ®A o (el ¥ vl arg)

TerhT ST

A AL

e RG]

3R+ st

. file # gt =
1. A,B,C,D,E
2. D,C,A B,E
3 ED,B.AC
4. B,C,D,E A

Options :

42558917656. 1

42558917657.2

42558917658. 3
42558917659. 4

Mmoo 0®E R

Question Number : 101 Question Id : 4255894544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR G I =11 3 TEHRE B O S 3 ol ®mA o— (Yl G vl d1F)
A. Y @
B. gx-fRemax
C. SHofar A
D. 3t = st
E. il # a1 =
1. A,B,CDE
2, DC.ABE
3 ED,B,AC
4. B,C,D,E A
Options :
42558917656. 1
42558917657. 2

42558917658. 3
42558917659. 4




Question Number : 102 Question Id : 4255894545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frr fore faore weer ¥ ar 31 Uo7 o wEen 98 mE i
T B@ET 9 3 e oS A
EH—EH Sodl a3 BT dredl
FHIT Herdl TS T AT ST
Ak 3 7l

B.AC D E

D.E,B,A,C

AB,D.EC

B,D,E,C A

Options :

42558917660. 1

42558917661. 2

42558917662. 3
42558917663. 4

AR ESImDOwp

Question Number : 102 Question Id : 4255894545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

<R fare s e ¥ P T T § o we w5 i
A. =Y 55 3 W P A

B. 689 Siedr arEi 3 gFHT el

D. @R @erdl @€l S AT St

E

. BACTLE
o DB BoA €
3. AAOB,D,E,C
4. B.D,E.C, A
Options :
42558917660. 1
42558917661. 2
42558917662. 3
42558917663. 4



Question Number : 103 Question Id : 4255894546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WATI, T Hfcrdaen, e, aiwaw, gwrdEa 1 Uar 3 8ar el HF o—

A. Hrerem

B. =RmERr el

C. % el

D. oraad o=

E. wars

1. A,B,C,D,E

2 B.C.E.A D

3. CE,D.B. A

4. D,A,BE,C
Options :
42558917664. 1
42558917665. 2

42558917666. 3
42558917667. 4

Question Number : 103 Question Id : 4255894546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WU, e Hlcrdhenl, 2=, Todwe, sximan I Yol 3 Bea el HH o

A. et

B. ARERT Il

C. %I ®en

D. Sraad erer

E. =

1. A,B,CDE

2 B, C.E AT

2 GED.RB.A

4. DA,B.E,C
Options :
42558917664. 1
42558917665. 2

42558917666. 3
42558917667. 4



Question Number : 104 Question Id : 4255894547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHEUT, AR, g, AT R T MR 3 915 G RIS 91al I HE W B o

A. I

B. ®w

C. fowg

D. 7

E. SouE

I R et 9w § ad) o= gon-—
1. D.E.C,B. A

2. D,B,E.C, A
3 ED,C.AB
4. D,E,B.C, A
Options :
42558917668. 1
42558917669. 2
42558917670. 3
42558917671. 4

Question Number : 104 Question Id : 4255894547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FHo0l, TR, %, I 3R el I ¥ €15 . RITE 9T W HEEL W BH o
A I
B. me
C. fow
D. @&
E. S®
I Rarer Rt 7w § @) % goi—
1. D,E,C.,B, A
2, D,B.E.C. A
% B,DC AR
4. D.E,B.C, A
Options :
42558917668. 1
42558917669. 2

42558917670. 3
42558917671. 4



Question Number : 105 Question Id : 4255894548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IRES SONETH & BRI Y dHEIS We | Uell ¥ wed] a¥ug ¥ BWE ¥ Wel 9 £
SR AT
B. 3gar =RT
C. oo wqgfer
D. ®ume wfd
E. st 1% 950
i

>

1. D,E,A,B,C
2.E,D,C,A,B
3 ED.ARBRC
4 D.E,C,B. A
Options :
42558917672. 1
42558917673. 2

42558917674. 3
42558917675. 4

Question Number : 105 Question Id : 4255894548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IREC YRS g BRYE X HHGle ge # UelT 3 gud! avomg ¥ R ¥ 98 BE 6—
A. AR Amrafer
B. srgar afks
C. o wfer
D. Femes wd
E. #ff 1% d&m
I fadrer Raet i | WY oo goi-
.D,E;A B, C
.E,.D.C,A. B
. E,D,A B, C
4. D.E,C,B. A
Options :
42558917672. 1
42558917673. 2

42558917674. 3
42558917675. 4

[

(S



Question Number : 106 Question Id : 4255894549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tor Y A ¥ wurfed T B—

A. BT IS TET—HT -

B. R W=

C. dfer fres sl &

D. "=

E. mafyer vcte waarie o &
. 77 A, B.D

2. wia B,C,E

3. mma B,C,D,E

4., mma A, C,E
Options :

42558917676. 1
42558917677.2
42558917678. 3
42558917679. 4

Question Number : 106 Question Id : 4255894549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tl O ¥ e TRr B

A. BT 79 FEa-91 9

B. gHR 34

C. afe1 o Saam o

D. wmr "

E. Taf® weie waArs o 9
. =3 A,B,D

2. e B,C.E

3. wma B,C,D,E

4. mma A, C,E

Options :

42558917676. 1
42558917677.2
42558917678.3
42558917679. 4



Question Number : 107 Question Id : 4255894550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rt foren @ | e BT o

A. TS T0H 9ES &

B. v’ 999d WeT ©
C. ‘g7 ocHH A4S B
D. ‘9ig g7 WeEg £
E. U= aoaq 995 ¢ |
. w3 B,C,E

2. ma A, B.C

3. mma A, D, E

4. w1a B,C,D
Options :

42558917680. 1
42558917681.2
42558917682. 3
42558917683. 4

Question Number : 107 Question Id : 4255894550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hr forenr A | S U B

A. TS THA 999 B
el TgHd AeS B |

B

C. ‘Tgur 999 995 & |
D. Ig dgqT Weg £
E. ‘dusr oogH €< & |
=

I. mma B,C,E
2. mma A, B, C
3. mma AD,E
4., mma B,C,D
Options :

42558917680. 1
42558917681. 2
42558917682. 3
42558917683. 4



Question Number : 108 Question Id : 4255894551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y fomt A ¥ WO R e—
A. IS AU dhed I 3R BT ST

B. «&ET SA0T 3 Aded E—3TTAIT ST
C. &% Somaur g Bicd &8 @30 9 SR oguiT
D. Ter 3 EeT I Ry £ 3 fRer
E. foRl o1 @) 31 Aced 83 Tone TRiEs A
M e fraed A < W) SR o
I. wa C,D,E
2. g A,B,D
3. wma A, B.E
4. w13 B, C,E
Options :

42558917684. 1
42558917685. 2
42558917686. 3
42558917687. 4

Question Number : 108 Question Id : 4255894551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y fomt A ¥ WO R e—
A. IS AU dhed I 3R BT ST

B. =T =AU 31 AOOd E—3TTHIT Rl

C. i< goram gt wfed wF oo & e o)
D. 221 3 vEST I ARy BTN 37 AeE

E. et o R 37 709 o—6h1 ToTs RIS AR
I frer fwet Aiw ¢ WY SR gon-

I. =9 C,D.E

2. wa A, B, D

3. ma A, B.E

4. w13 B, C,E
Options :
42558917684. 1
42558917685. 2
42558917686. 3
42558917687. 4



Question Number : 109 Question Id : 4255894552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Te] F—Hedehlol M IreTee=T Te—faemdr &—

A, TITE, 9T, HREE, 9ol
B. =m41, e, faam, saed
C. urger, Ucel, TaRNg, 98]
D. wu®, 99w, e, S
E. 321 Sramear, qaiae], wIea
. mm3 A.B,.D,E
2. ma A, C.E
3. ma A, B.E
4. wma B,C,D

Options :

42558917688. 1
42558917689. 2
42558917690. 3
42558917691. 4

Question Number : 109 Question Id : 4255894552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR F—Hed el XTore= T Te—faemar 2—

A. T, 91, BRAM, dEae!
B. ¥, e, foer, s@ied

C. ITEeT, UEEl, TR, F8T
D. wus, smre, T, St

E. 321 Sramear, qafae], mIEa

$r fiiver frweat 7 | WeT SR Ui
. wma A,B,D,E

2. ma A, C.E

3. w1 A, B.E

4., wmma B,C,D

Options :

42558917688. 1
42558917689. 2
42558917690. 3
42558917691. 4



Question Number : 110 Question Id : 4255894553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TG TEATA HivE TEET WY W Sifedt -

TURT I A B E |

SURT TET WA 1516 H @R |

30w H 99 He—Ho Hiha Tald SR Widd TR A E |
I gETE BIC A AT 6 |

SO g W X IS SO I IS I g §

w1 e Reat wig § 98 SR o

mig A, B, C
wig B, C.D
g B, C,E
4. wg B, D, E
Options :
42558917692. 1
42558917693.2

42558917694. 3
42558917695. 4
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Question Number : 110 Question Id : 4255894553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TG TEATA HivE TEET WY W Sifedt -

SURT T HH B E |

SURT T HAd 1516 H Bl |

T HIe ¥ A9 Ho—do Head YAh 3R Wiad Tt o4 §
I gETE BIC A AT 6 |

E. 3@ g WHR 3 o Ay & ST 3 % g |

w1 e Reat wig § 98 SR o

I. v A, B, C
2. wma B, C,D
3. w7a B,C,E
4. wg B, D, E
Options :
42558917692. 1
42558917693.2

42558917694. 3
42558917695. 4

Sn®Ep@



Question Number : 111 Question Id : 4255894554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y fere A | € SRIET HeTad) ¥ o sEad 7 W o

3 MOy
lﬂ%
.
:

W b
=
£
=)

4., wma C, D, E
Options :
42558917696. 1
42558917697.2
42558917698. 3
42558917699. 4

Question Number : 111 Question Id : 4255894554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Yer forea |G ¥ €. BRIele ABTae X Jold Shel 3 e o

A, TR &=

B. af¥a @

C. w7l @

D. Tfo—sues s
E. s &

¥ feaver frwet At g WY ST goi—
l. wma A, B,C
2. v B, C,D
3. v7a B,D,E
4. mma C, D, E
Options :

42558917696. 1
42558917697.2
42558917698. 3
42558917699. 4



Question Number : 112 Question Id : 4255894555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tegqod T’ WY 98! Afear §—

3T e AT X =T B
U AT Had 1466 %|
T 672 HiSTT ¥ =T B |

3 RorR & W= 2

TURT g1 ATH CHAT QRO 2|

w1 e Reat wig § 98 SR o

mig A, B, C
wig B, C.D
ma B, D, E
4. v C,DE
Options :
42558917700. 1
42558917701.2
42558917702. 3
42558917703. 4
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Question Number : 112 Question Id : 4255894555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tegqod T’ WY 98! Afear §—

3T e AT X =T B
SURT TEThIeT Had 1466 & |
3T 672 HieTr ¥ =T B

3 RorR & W= 2

E. ORI @ A\ wO0 gRIoT 2|

w1 e Reat wig § 98 SR o

I. v A, B, C
2. w10 B, C,D
3. waag B,D, E
4. w1 C, D, E
Options :
42558917700. 1
42558917701.2
42558917702. 3
42558917703. 4

SnwEp@



Question Number : 113 Question Id : 4255894556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR ST SET Ae e —

A. TR T SULERS FUTHIT H 108 fTwar | iU wumEr 2|

B. ‘fimg g weil 9f g sHRreel 9, gu—gory ferdl, fEve s g 9 SSaT 312 WEER 6
=

C. “raeht & T o) srfed ofa

D. 7 9rwg @fesr Y 9 3 TEEh 3 9 T . Iwers § @S aeol

E. @i amudr Tgd 99e @A H O eIl Wi AURIE I - [RET a@ o g |

W18 e e 7lg ¥ WY SR gon—
I. w7 A, B, C

2. ma B, C,D

3. wa A,B,C.D

4. wma A, C,D,E

Options :

42558917704. 1
42558917705.2
42558917706. 3
42558917707. 4

Question Number : 113 Question Id : 4255894556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

5 B 1 1 M 3 B 5 e e 5 s

A. TN T2 SUSIRST HUTEE H 108 fIwdr | T wRmar £

B. Treg g urRlt of g gAverel § gu—gor fordl, [ e g 9SS 312 HEIReT A
=

C. “mrael & @I a8 Ffad oo &

D. af wreEd d@fger ¥ 9= 3 v=Eh § SR 9w | aeer 3 e wwl

E. o i TE&T wsd =0 A S el 6 aMRTE 3 N-n ARt aw@ntT €|

W farer et #ig ¢ w8 SR ol
I. mma A, B,C

2. ma B, C,D

3. wma A,B,C,D

4. w3 A, C,D,E

Options :

42558917704. 1
42558917705. 2
42558917706. 3
42558917707. 4



Question Number : 114 Question Id : 4255894557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ROl | ARSI ST60 e &2 o—

A. TE U a1 BN SRS AR A S ol Afeamfy smiRr i @ey it

B. @& I IOTHAR HevE O Hl He A WOR B ST VI 3R HENGE O AoRAn qae 3 e
ST |

C. 9 WIR ¥RS = =19 3R FIRS Aol - |

D. et —verde & Tl o & Ter-uer A == 2

E. dmares | d5L7 Wl  ffenore SvRn Agerdt s8R HiAT |

9 feirer Rreeat 7T ¢ W SR -
I. w9 B,D,E

2. wa A,C,E

3. wmB,C,D,E

4. »1a9 A,B,C.D

Options :

42558917708. 1
42558917709. 2
42558917710. 3
42558917711. 4

Question Number : 114 Question Id : 4255894557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RTOTeRIT T UG 9Ta0 3 28—

A, GE WS G B SR R S SRy oft wieamiy sl R we R i

B. =T 3 AoTpAN HEw WOiAl $He " WA BT AT YT 3R HERGIC 3 ASTRANT gHel ¥ e
T |

C. 0 WIR |G = =Frad] 3R WG diel |

D. werot—terad! & arar aa—yH {1 TE—uEr A = 8

E. dwmares | Q9! vyl 3 dievie SoRr [aedr sR HiET |

47 feirer Rraedi 7ia ¥ WY SR o
I. 9 B,D.E

2. wa A, C,E

3. »7aB,C,D.E

4. wma A,B,C,D

Options :

42558917708. 1
42558917709. 2
42558917710. 3
42558917711. 4



Question Number : 115 Question Id : 4255894558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WG TEAT X O SgdTe add Wel R i

A. W I UE I9Rr eare ARG WIeT Sl § |
B. sRrmiRiE 9t 3 HArS! e oF el 7y

C. HEgd ¥ gof Sared €. FHEY I 2|

D. HEga ¥ gere! el 7T SarE FRIRiene & BT ¢ |
E. e YHIe) 1 HEQd X 9747 SHaEd ¥5dT © |

W e e #ig | @ s goi-

I. w3 A, B, C
2. wma A, D E
3. wma A, C,E
4. wma A, C,D
Options :
42558917712. 1
42558917713.2

42558917714. 3
42558917715. 4

Question Number : 115 Question Id : 4255894558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG YT ¥ ISR SATS aEd 681 R -

A, HEET W U TR SaTe TREVEE WET ST §
B. REmifiE At I darel sgae o F W 7T g

C. WEgT ¥ TO SaEd o Fes I © |

D. #HEgd ¥ gerel diell Ay Sdre MR e 6T ¢ |
E. #91Ex Taey | HEgd X @97 SaES a1 B |

e e 7 § 9d S= o

I. w3 A, B, C
2. w3 A,D,E
3. wa A, C,E
4 waag A, C,D
Options :
42558917712. 1
42558917713. 2

42558917714. 3
42558917715. 4



Question Number : 116 Question Id : 4255894559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRR ACd I W o

A, FHEN
B. @mr

C. 3=y

D. g

E. u=AT

nad A, B, D

wd B, D, E

wd A, D, E

4. wma A, C,E

Options :

42558917716. 1
42558917717.2
42558917718. 3
42558917719. 4

B R

Question Number : 116 Question Id : 4255894559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRAGE Aed I U T

A, THER

B. @M

C.

D. &=

E. u=HT

g A, B, D

w1 B, D, E

md A, D, E
4 waag A, C,E

Options :

42558917716. 1

42558917717. 2

42558917718. 3
42558917719. 4

il el



Question Number : 117 Question Id : 4255894560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T AT AI8d HeIvl WS O Helvl &—
fiarar

T
THATH
Ea=s

TR
fagrer et #ig | g SR goi-

mig A, B, C
wig B, C.D
g C, D, E
mg A, C, E
Options :
42558917720. 1
42558917721.2
42558917722. 3
42558917723. 4

rwne- 3 HOOE

Question Number : 117 Question Id : 4255894560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
7o A W FEn) GE § FEw 2
A. R
B. =
C. Toam™
D. @i
E. e

i e e w3 @ SR gon-

I. v A, B, C
2. w10 B, C,D
3. wma C,D,E
4. mma A, C,E
Options :
42558917720. 1
42558917721.2
42558917722. 3
42558917723. 4



Question Number : 118 Question Id : 4255894561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 4 |RA Rl aEd §eEl w2 6

A, s orfll § e ey foredisa gl

B. 31 ueft % wifewy srre), 78 fRwl & R AW B
C. worer T # €R w0 gu7 uiefY I r=ar e

D. S widmer sfoar g7 deft 7 =EeR © |

E. s Sl 31 == faawm gon deft # 9@ B
W e e #ig | @ s goi-

. w77 A,B,D

2. » B,C,D

3. wig A,D,E

4. w9 C, D, E

Options :

42558917724. 1
42558917725.2
42558917726. 3
42558917727. 4

Question Number : 118 Question Id : 4255894561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tl 31 wRA uRfl aEd "l wRe o

A. g7 Uit # wwE ey foei= B

B. zu7 unft 7 witw smwrenn, 78 e ¥ v fAer 2
C. o & IR w0 g7 el 1 ui=ar e 8
D
E

. S wrfener wfaar o1 gefl 1 EHeR 2 |
RTSTRIT T HERi 1 =RI—=1RT (HeRE 507 urefl 4 S&dea & |

4 firer reeat Wi ¢ W SR g
. wma A, B,D

2. mma B,C,D

3. w9 A,D,E

4. mma C, D, E

Options :

42558917724. 1
42558917725.2
42558917726.3
42558917727. 4



Question Number : 119 Question Id : 4255894562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

X foren FE WY | e R e

A, FITATERET I G rdmat < erge g 2

B. @& HANS ¥ Afe ae—a=T o e g |

C. draend # 81 ¥ @ | QR Fi e e |

D. @reeat ¥ 79 We 09 TeEE—oer ¥ X6 3 |
E. Herawi X @ ®1% 7 bGPl 999 a9 AT B

. w79 A, C.E

2. wa A, B, D

3. mma C,D.E

4., mma A, C,E

Options :

42558917728. 1
42558917729.2
42558917730. 3
42558917731. 4

Question Number : 119 Question Id : 4255894562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T fors w91 ¥ 3 w2 B
A. TR 7 fGumE drEmemEt 3 orge! e
. ST S ¥ Afie am—ae o sarer 9 |
. TR H BT ¥ ST WY WROR A EreAdar e |

B
C
D. @rereat ¥ 79 wre 09w gee—oer 37 X6 39 |
E. Hemaw ¥ @ &% 7 Bin w0 Ay e g ey |

$r fiiver frweat 7 | WeT SR Ui
. w7 A, C.E

2. md A,B,D

3. v C,D,E

4. mma A, C,E

Options :

42558917728. 1
42558917729.2
42558917730. 3
42558917731. 4



Question Number : 120 Question Id : 4255894563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Te ToredT HeTaxl, Seradl 3R eyl Heell w=Ml 7T ¥ s dAT o—

ST WA # W AT ¥ S |

S SR T et I Srad! TATHIT BT S

HE TaviT Heraw 9 9 =ET e8P g |

"3 WA H G §AT, ST AT IR FaT* T AST I AW B FHET G |
AR & VT T & W, W e ¥ 9 € e W SR U st

MY 0w R

I. w9 A, B, C
2. wmma B, C.D
3. mma A, D, E
4, w13 C,D,E
Options :
42558917732. 1
42558917733. 2

42558917734.3
42558917735. 4

Question Number : 120 Question Id : 4255894563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fYer foreT HeTawT, HEMAAT 3N SMeTT Wl TRET 7T ¥ S HUT -

A. oEY O # WY AW G A0 |

B. & sRm i anfeai ¥ arasd! aifiew i §

C. |2 maur HeTaRT 3 R =T gav B |

D. "3 wWa # ST gal, Sl g AT gl 5u ISy A AR T HET g |
E. =R & IR U&F & 99, & & § 9% & e 4 oR Ui SRR 2
ma A, B, C

g B, C,D

wa A, D, E

4. wag C, D, E

Options :

42558917732. 1
42558917733.2
42558917734. 3
42558917735. 4

w =



Question Number : 121 Question Id : 4255894564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHAECT Ul A6 Hel aifodl 2—

. ST uf3an orene Wi URYs, SR ¥ BUdl 87
. 3 TH ARSI ©
. 3 ISR e Qe 3” Wil ¥ Wi Ul & |

TR H 30T Ul ¥ ATeled e U7 aedr &)
feirer et #ig § wdr o7 gui-

. wg AL B, C

ma B, C.D

mg C, D, E

4. mma A, D, E

Options :

42558917736. 1
42558917737.2
42558917738. 3
42558917739. 4

A

B

C

D. @eoareel Aed SR WATEd 47|
E

Sl

W

Question Number : 121 Question Id : 4255894564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el UfErRT Are wel aifedr -

T U R WG URve, SR 9 8 B
3T TR ARSI T §
T ISTRIT e Ao 3R g 37 Wiy e & |

FredTelTel HEdl SURT Hulgd 47|
T H ST U ¥ 9Teige 376 9 fAdeear 1)

R faareT e #ig § w87 o) gui-
T A, B, C
.®mma B, C,D
. C, DL E
4. wma A, D, E

Options :

42558917736. 1
42558917737.2
42558917738. 3
42558917739. 4

monNw»

T



Question Number : 122 Question Id : 4255894565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

rareer1 Afa—Rars ¥ As -

A, &

B. &

C. I o
D. fasmr

E. &=

I ferer et @l 3§ wér SR gon—

I. wa A, B, C
2. wig A, C,E
3. wmma B, C.D
4. wma C, D, E

Options :

42558917740. 1
42558917741.2
42558917742. 3
42558917743. 4

Question Number : 122 Question Id : 4255894565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

rareer1 Afa—Rars ¥ As -

A, &

B. &

C. I =@u
D. @

E. &=

I ferer et @l 3§ wér SR gon—

I. m7a A, B, C
2. wid A, C,E
3. wmma B, C.D
4. wma C, D, E
Options :
42558917740. 1
42558917741.2
42558917742. 3
42558917743. 4



Question Number : 123 Question Id : 4255894566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ae SHTeH], T3 (qoei] ¥ STHeH] JREhIY 4§ 9 JoTel+] @R t—

A, TRE e
B. wooide e
C. Yader =
D. wrfeme™ o
E. ®aq Al

. w719 A, B, C
2. ma A, C.E
3. ma B,C,D
4., wma C, D, E
Options :

42558917744. 1
42558917745.2
42558917746. 3
42558917747. 4

Question Number : 123 Question Id : 4255894566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B AU, 5 (o] ¥ AHH REPY Y R SRl FEIhR 6—

A, e TegEted
B. Twogmifis Irarad
C. Ygasr am

D. wrfeqem wfaar
E. saq =l

I. mma A, B,C
2. ma A, C.E
3. ma B,C.,D
4. mma C, D, E
Options :

42558917744. 1
42558917745.2
42558917746.3
42558917747. 4



Question Number : 124 Question Id : 4255894567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tl H Bic—

A. TEUIMERT o9 9.8 SR § Oy 9w §

B. f&ra wifesy # argRie” = AT 90 WE A UE AT A |
C. e amer YR 9 TaHRT # SmRe’ 31 &9 we oy
D. e v Wi Ried mRe 3 a6 A1 6

E. &ma # ang S1a e 7 7 av0r 7 |

I Rrer Rewt a § ad) s 7o
I. w3 A, C,E

2. g A, C,D,E

3. wma B,C,E

4. w9 B,C,D, E

Options :

42558917748. 1
42558917749. 2
42558917750. 3
42558917751. 4

Question Number : 124 Question Id : 4255894567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T BT Bic—

A, TEUIYERI 599 9.28,8 3R § fORET a9 g |

B. & wifgey # arade’ o 41 99U WE W Uh HE A |
C. e sner YgR o9 UERT # SmRe’ 31 &9 W o
D. e v Wi Ried mRe 3 a6 A1 6

E. f&ra # and v aR 7 i a=o7 A0 |

I frer fwet Aiw ¢ WY SR gon-

I. w9 A, C,E

2. g A, C,D,E

3. wma B,C,E

4. w1 B,C,D,E
Options :
42558917748. 1
42558917749. 2
42558917750. 3
42558917751. 4



Question Number : 125 Question Id : 4255894568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hel T Biei—
A, Tee—Tfdear 3 WM FH T— SRR ERE |
B. & Wae g0 3R W G HRIG, U WoR U SAETET U H i |
C. ETF 2Rral aRifiie ¥ae ared ddg ¥ T 3 |
D. gTer Hae H &od IR ETH a5 daal § Su—suRy g ' =g W
E. &feie ¥9g $9 3t aem wafy fgia O en=n &
I. w9 A, C.E
2. wma A,C, D E
3. mma A, B, C,D
4. w13 B,C, D, E
Options :

42558917752. 1
42558917753.2
42558917754. 3
42558917755. 4

Question Number : 125 Question Id : 4255894568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AL P Bie—

A, TEE—TIERAT {1 W B B SRRER HaT |

B. @oe Wes Hi 3 W A HId, SO WIOR U AFTE T U3 H I o] |
C. & 2RAT ARIE TEs ar=d Tae ¥ SR X4 |

D. 9= Hag H 9@ 3R ETH & "aal 3T SU-—Sue ke HEl araer 9 |
E. =e& Wag §9 T Ao sl Rgia 31 enuem &9
R

. mma A, C,E

2. g A, C,D,E
3. wma A,B,C,D
4. w3 B,C, D, E

Options :

42558917752. 1
42558917753.2
42558917754. 3
42558917755. 4



Question Number : 126 Question Id : 4255894569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T I 9 9= 1+ aroeer fHerrei—
T 1 & 1

A, U= e L rERare, Haret

B. STRYdT e 11. 2rea), Hare!, arre)

C. mayd! o 1L =7, |reare!

D. =fErrgdl weremrr | 1V, SEgR) S, e
1 e et AT | w8 oo goi-

1. A-1IV,B-1I, C-1, D-III
2. A-1, B-II, C-lII, D-IV
3. A-IL, B-1, C-IV, D-1II
4. A-IL B-1V, C-1, D-lI

Options :

42558917756. 1

42558917757. 2

42558917758. 3

42558917759. 4

Question Number : 126 Question Id : 4255894569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T [ 9 = 1+ Aroeer fHerei—
T 1 e 1

A. afEeT e L rERare, Haret
B. STRYdT e I1. e, Hare!, arre)
C. Aggdl ITaRerm=1 1L i), Hrsaret
D. sfErorgdt werem=r | IV, S, SRy, Irerare
I Tt Fweat 7 < W8T SR oI
A-1V, B-1I, C-1, D-1II
A-1, B-1I, C-I1I, D-IV
A-IL, B-1, C-1V, D-111
4. A-IL B-1V, C-1, D-lI
Options :
42558917756. 1
42558917757. 2

42558917758. 3
42558917759. 4

L B



Question Number : 127 Question Id : 4255894570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

i 1 w1
A. 37 qTaTE] AT L. & % o €
B. freggareT wd=m 1. = faoft ¥ a1 s
C. arfzaaar |a9m L1 =ed) /et o1 & 87
D. yearE wam IV. frer fas 3 gfegi—a @or emt 27
A faarer et 7ig | ) SR -

1. A-1V, B-1, C-11, D-111
2. A-1V, B-1I, C-I1I, D-I
3. A-II, B-1, C-1L, D-1V
4. A-II, B-1V, C-1, D-111

Options :

42558917760. 1

42558917761. 2

42558917762. 3

42558917763. 4

Question Number : 127 Question Id : 4255894570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

i 1 o 11
A. 37 JTATET O L. & = o §
B. fre=rar=i s 1. = f&oft ¥ ared =7 Seen
C. sifrergart wd=m™ 1. =iy /et o 31 27
D. yearET ¥ IV. freer fras 5 gftsar—8 o7 e 87
M e g #7ig | w8 SR goi-

1. A-IV, B-1, C-11, D-III
2. A-1V, B-11, C-1I1, D-1
3. A-III, B-1, C-11, D-IV
4. A-1I, B-1V, C-1, D-II

Options :

42558917760. 1

42558917761.2

42558917762. 3

42558917763. 4



Question Number : 128 Question Id : 4255894571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

T | e 11
A. w2 L Ao
B. amr II. firs
C. ya= 1. e
D. =1 V. Toeg
1 faarer et 7 | Y SR -

A-I1, B-1, C-III, D-IV

A-1V, B-111, C-I, D-II

A-IIL, B-1V, C-1, D-II
4. A-II, B-1V, C-1, D-III

Options :

42558917764. 1

42558917765. 2

42558917766. 3

42558917767. 4

W PO

Question Number : 128 Question Id : 4255894571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

o 1 T 11
AT L 3o
B. amHr 1. fre
C. udae I1l. =e
D. ==y V. T5we
1 e e 7 | w8 SR goi-

1. A-II, B-1, C-III, D-IV
2. A-1V,B-1I, C-1, D-II
3. A-IIL B-1V, C-1, D-11
4. A-1I, B-1V, C-1, D-1II

Options :

42558917764. 1

42558917765.2

42558917766. 3

42558917767. 4



Question Number : 129 Question Id : 4255894572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

i 1 e 11
A. T5519 wErde 9 dfer L. FreeR aman
B. wra = 1L T
C. arHre ot ¥ et II1. ==z 9R
D. FfFrer aas =guiesr | V. serar A
1 faarer et 7 | Y SR -

1. A-1V, B-1, C-11, D-111
2. A-1, B-II, C-III, D-1V
3. A-IL B-1V, C-1, D-1II
4. A-III, B-II, C-1V, D-I

Options :

42558917768. 1

42558917769. 2

42558917770. 3

42558917771. 4

Question Number : 129 Question Id : 4255894572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

o 1 e 11
A. TSI T W dafer I freer amrfern
B. @ IL. o
C. arme St 31 et 11 fe7z=z |9k
D. 5o areas =gufedr | V. seran |
1 e e 7 | w8 SR goi-

1. A-IV, B-1, C-11, D-III
2. A-1, B-1I, C-1II, D-IV
3. A-IL, B-1V, C-1, D-1II
4. A-1II, B-11, C-1V, D-I

Options :

42558917768. 1

42558917769. 2

42558917770. 3

42558917771. 4



Question Number : 130 Question Id : 4255894573 Question Type : MCQ Option Shuffling
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—
i 1 T 11

A. 3T W T L. srat
B.amg mren § ge | I Wd wead
C. gzt afer 11 Troi
D. fgfy af IV. %

# e R wig § |ér 9w goi-
1. A-1, B-IIIL, C-II, D-IV
2. A-1L, B-1V, C-1, D-11I
3. A-III, B-1I, C-1V, D-1
4. A-1V, B-1, C-111, D-1I

Options :

42558917772. 1
42558917773.2
42558917774. 3
42558917775. 4

Question Number : 130 Question Id : 4255894573 Question Type : MCQ Option Shuffling
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ arear fiersi—
i 1 T 11

A. TS € e L srar
B.ors e @ o | 1L v weaa
C. orqwar® afer | 1L aon
D. fogfer afe IV. @

# e e wig § |ér oo goi-
1. A-1, B-IIL, C-11, D-1V

2. A-1L B-1V, C-1, D-111

3. A-III, B-II, C-1V, D-1

4. A-1V, B-1, C-111, D-1I
Options :
42558917772. 1
42558917773. 2

42558917774. 3
42558917775. 4

: No Display Question Number : Yes Is

: No Display Question Number : Yes Is



Question Number : 131 Question Id : 4255894574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

o 1 o 11
A. FT JTH [. 9% oy T
B. SRR R 1L HTaelT =7
C. awgg T 111 TgAHs ueHTad 9i0s
D. 3939 gsx IV. Trpaer w9
1 faarer et 7 | Y SR -

A-IIIL, B-1, C-1V, D-II

A-III, B-1V, C-I, D-II

A-I1, B-111, C-1V, D-I
4. A-II, B-1, C-11, D-IV

Options :

42558917776. 1

425589177717. 2

42558917778. 3

42558917779. 4

W PO

Question Number : 131 Question Id : 4255894574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 5= 1 = sroeas fHerei—

T 1 o 11
A. T TTE I. 9% wy FFelT
B. SR IR 1L et 7=
C. s¥wgz T 1. Fgae= uedTaar 9is
D. ¥9a gsx IV. srpaer w1
1 e e 7ig | w8 SR goi-

1. A-II, B-1, C-IV, D-II
2. A-II, B-1V, C-1, D-II
3. A-IL B-III, C-1V, D-1
4. A-1, B-1, C-1I, D-1V

Options :

42558917776. 1

42558917777. 2

42558917778. 3

42558917779. 4



Question Number : 132 Question Id : 4255894575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

T 1 i 1
A. URE RET L. 9w | et
B. To wEff 11. wfaer <7 & voe 3 o
C. amgemtig AT L1, Tt # Herd amft amT §
D. TeFtHE TR V. = 3 241

8 fedrer Pt 7 Y SR o

1. A-IL B-III, C-1V, D-1
2. A-III, B-1, C-1L, D-1V
3. A-1, B-IIL, C-1L, D-1V
4. A-1V, B-1, C-11, D-111

Options :

42558917780. 1

42558917781. 2

42558917782. 3

42558917783. 4

Question Number : 132 Question Id : 4255894575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

o 1 o 11
A. URE RET L. favmr ¥ et
B. = #sfi I1. ®faar =Y € Toowe 3 oF
C. angeHfs 9rdy 111, Feoat § Herd T 3T 97
D. TReFRiE Irarad V. e & f2ar

$4 faerar fent W ¢ WY SR o0

1. A-II, B-11I, C-1V, D-1
2. A-II, B-1, C-1L, D-IV
3. A-1, B-IIL, C-11, D-IV
4. A-1V, B-1, C-11, D-1II

Options :

42558917780. 1

42558917781.2

42558917782. 3

42558917783. 4



Question Number : 133 Question Id : 4255894576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—
T 1 i 1

A. =T 915 L. 7107 wUeH
B. @0 g 1L, TSt <7 ger

C. e axse | L 3@ ot 3 ge
D. dyae Trew | [V, o= wgell 9 gEl

8 fedrer Pt 7 Y SR o

1. A-IIL B-1V, C-I, D-II
2. A-1V, B-III, C-I, D-1I
3. A-IL B-L C-1V, D-I
4. A-II, B-1V, C-I1, D-1

Options :

42558917784. 1

42558917785. 2

42558917786. 3

42558917787. 4

Question Number : 133 Question Id : 4255894576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

a1 T 1
A. g 915 L 707 wues
B. &0 €& 1L 7Y <Y et

C. o= axse | L 39 o™it 3 g
D. dogew Tew | [V, 99 |wgdl 7 3@

$4 faerar fent W ¢ WY SR o0

1. A-II, B-1V, C-1, D-II
2. A-1V,B-1I, C-1, D-II
3. A-IIL B-1, C-1V, D-11
4. A-III, B-1V, C-11, D-1

Options :

42558917784. 1

42558917785.2

42558917786. 3

42558917787. 4



Question Number : 134 Question Id : 4255894577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—
T 1 o 11

A. ST TR L. ggAulY
B. wrfogsr 11 fo <7 oevohey
C. Jg aRg™ 111 gfear fome
D. f¥ra=rs gamoft IV, Aueel

8 fedrer Rt 7 Y SR o

1. A-I, B-III, C-1V, D-II
2. A-11, B-11I, C-1V, D-I
3. A-IV, B-1, C-IL, D-1II
4. A-I1, B-1V, C-II, D-II

Options :

42558917788. 1

42558917789. 2

42558917790. 3

42558917791. 4

Question Number : 134 Question Id : 4255894577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

a1 T 11
A. IFTT TR L. ggHof
B. @fags 11. fAg <1 9Ty
C. 7T 9RE 1. gfear fa=ma=
D. f¥ra=rs gamoft V. Auesl

$4 faeirer fret Wi ¢ WY SR -

1. A-I B-lIII, C-IV, D-II
2. A-II, B-11I, C-1V, D-1
3. A-1V, B-1, C-11, D-1II
4. A-1, B-1V, C-11, D-1II

Options :

42558917788. 1

42558917789.2

42558917790. 3

42558917791. 4



Question Number : 135 Question Id : 4255894578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

T 1 ¥ 11
A. ISIET FHIY I. & go=m 21 e
B. AR # 11 =rafagor R
C. ¥eaR ™ 1L e fawer for=rmoi
D. wiar wiie IV. &aiRar e
1 faarer et 7 | Y SR -

1. A-IIL B-1V, C-I, D-II
2. A-L B-IIL C-II, D-IV
3. A-IV, B-1, C-IL, D-1II
4. A-II, B-1V, C-1, D-III

Options :

42558917792. 1

42558917793. 2

42558917794. 3

42558917795. 4

Question Number : 135 Question Id : 4255894578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

T 1 e 1
A. SIET HEY L. @ go=m & e
B. AR #e] 11. =iafagor fewr
C. aFgsR = 1L 2 fEven for=emmfy
D. S&r e IV. &wfar areH
1 e e 7 | w8 SR goi-

1. A-II, B-1V, C-1, D-II
2. A-L B-1II, C-1I, D-1V
3. A-1V, B-1, C-11, D-1II
4. A-1I, B-1V, C-1, D-1II

Options :

42558917792. 1

42558917793.2

42558917794. 3

42558917795. 4



Question Number : 136 Question Id : 4255894579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

e 1 i 1
A. U gBY T L. FRHETE |
B. wsafac I1. SMmafiE TramEa
C. Tl I ER 111, weggaTer S
D. 3R sufige, #ear #eae | IV, s<Rm gar

8 fedrer Rt 7 Y SR o

l. A-II, B-1V, C-II, D-I
2. A-IL B-III, C-1, D-IV
3. A-L B-IIL C-1V, D-1II
4. A-II, B-1, C-III, D-1IV

Options :

42558917796. 1

42558917797. 2

42558917798. 3

42558917799. 4

Question Number : 136 Question Id : 4255894579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 =0 1 + "sroear fHerei—

g 1 o 10
A. XU JBY HWT L. RTHETE ey
B. Hearfee 11. Sr4r=rfiis Trgmae
C. 3wl 31 ER 111, weware Sireft
D. 3R awig, #edr wae | IV, s=em gam

$4 faeirer fret Wi ¢ WY SR -

1. A-IIL B-1V, C-11, D-1
2. A-I,B-II, C-1, D-IV
3. A-L B-II, C-1V, D-III
4. A-Il, B-1, C-lII, D-1V

Options :

42558917796. 1

42558917797. 2

42558917798. 3

42558917799. 4



Question Number : 137 Question Id : 4255894580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT I 3 o= 1+ araear fAensi—
il | Y 11

A. ITTRIHT FIH I L. UFTTeHe 2fTed] 9 RmaT

B. ISR dldaRn 1. FUeT JRI FRIA"E I o[ ZE
C. I ST 111, e ver &1 Afgerar & gl

D. TSRl ey V. S —AR0-—0=u, o "6 9 SR

8 fedrer Rt 7 Y SR o

A-L, B-1IL, C-1V, D-II

A-1V, B-11, C-1, D-1II

A-1V, B-1, C-11, D-III
4. A-I, B-1V, C-I1, D-II

Options :

42558917800. 1

42558917801. 2

42558917802. 3

42558917803. 4

W PO

Question Number : 137 Question Id : 4255894580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT | 9 &t 1 5 \raeee s
i 1 e 11

A. TFRIHT T L. UFTIeHe 3Tl . TRmaIT

B. o= e 11. @oeT 7R PRI 3 S f=Zerm
C. ITeTer=T SRy L. e e 31 \igemar 31 g

D. yeir! ey V. S H-—AR0T-0=w, & Sl 3 SR

$4 faerer frwent W ¢ WY SR -

1. A-I B-III C-IV, D-II
2. A-1V, B-1I, C-1, D-1II
3. A-1V, B-1, C-11, D-1II
4. A-1, B-1V, C-111, D-II

Options :

42558917800. 1

42558917801. 2

42558917802. 3

42558917803. 4



Question Number : 138 Question Id : 4255894581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 9 = 1+ argeer fierei—

oy e gl
A. oiiwg gf L &1 gsrel ¥ quay B
B. u=g gf 11 foory =mier= &ms Br
C. R g 111 5o =EsET va 3 7o g
D. wur gif IV. @, #ier aR 9ier 4 fHuRl A= g3 gugl grd
A faarer et 7ig | ) SR -

A-1, B-11, C-1V, D-III

A-II, B-111, C-1, D-1V

A-IIIL, B-1V, C-I1, D-I
4. A-1V, B-1, C-II1, D-IT

Options :

42558917804. 1

42558917805. 2

42558917806. 3

42558917807. 4

W PO

Question Number : 138 Question Id : 4255894581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 1 9 5= 1 = sroeas fHerei—

o 1 T 11
A. i g L <1 Terel ¥ guaT B
B. o¥m g 11. o =R @ e
C. R gf 111 fore =T ¥a I ToRe 2
D. wor g IV. &g, wier e wrer § foRy A g quat 2
M s e #7iF | w8 SR goi-

1. A-I B-II, C-1V, D-II
2. A-II, B-11I, C-1, D-1V
3. A-IIL B-1V, C-11, D-1
4. A-1V, B-1, C-111, D-II

Options :

42558917804. 1

42558917805. 2

42558917806. 3

42558917807. 4



Question Number : 139 Question Id : 4255894582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt 19 3 11+ wroeey ferel (T w1l O e ) —

Licil| T 10
A. =T faem L g3 &is
B. v foms I1. o1 i
C. 9oy e L. &feen @re
D. a7 firems V. e @i
1 e Re wig 3§ |87 o= goi-

1. A-1V, B-1II, C-1, D-II
2. A-UIL B-1V, C-1, D-II
3

il 2

Options :

42558917808. 1
42558917809. 2
42558917810. 3
42558917811. 4

Question Number : 139 Question Id : 4255894582 Question Type : MCQ Option Shuffling

Question Mandatory : No

A-1V, B-1III, C-II, D-I
A-L, B-1I1, C-IL, D-1V

Correct Marks : 2 Wrong Marks : 0

ST 19 3 11+ saraeewry (erelt (T s 1l O tead 1) —

Licil| T 10
A. =T faem L g3 &is
B. v faoma I1. o1 e
C. 9wH faem [11. = e
D. amsH fiems V. e @i
#1 forer e wig § w6 SR goi-

S e

A-1V, B-111, C-1, D-11
A-1I, B-1V, C-1, D-1I
A-1V, B-1I1, C-I1, D-I

4. A-L B-1I, C-IL D-1V

Options :

42558917808. 1
42558917809. 2
42558917810. 3
42558917811. 4

: No Display Question Number : Yes Is



Question Number : 140 Question Id : 4255894583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT I = 1+ Aroeer fHermei—
w1 g 11

A T . Srfle™® ==

B. sR-ft= IL. Sra® B3

C. fre—fammfir 111 <raror wse
D. vor—fires V. gdRe™ WL
e faarer Racr A | w8 o goi—

A-1V, B-1, C-111, D-11

A-1, B-1V, C-111, D-II

A-VI, B-1, C-11, D-11II
4. A-1V, B-1I1, C-1, D-l

Options :

42558917812. 1

42558917813. 2

42558917814. 3
42558917815. 4

S R

Question Number : 140 Question Id : 4255894583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al [ 9 = 1+ Aroeer fHerrei—
e e 1

A T . Srfle™® ==

B. sR-fi= IL. <ra® g

C. firme—femmfir 111 <har wss
D. wo—fies V. giRe™ W
= feaer Raca 7/ ¥ 981 o) goi-

1. A-1V, B-1, C-III, D-1I
2. A-1,B-1V, CII1, D-1I
3. A-VI, B-1, C-I1, D-1II
4. A-1V, B-1I1, C-1, D-I1

Options :

42558917812. 1

42558917813.2

42558917814. 3

42558917815. 4

Sub-Section Number : 2
Sub-Section Id : 425589185
Question Shuffling Allowed : No



Question Id : 4255894584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Hr fe ey 7 e 3R e "aret ¥ 99 3

ISR A SXA0T S0 A R AIET AR G SR didh—HTe 3 ST 9 S TRATE Y | U, a@fea—gen
3 e URFERT I [HRIA H1 6 | i 3R AT Y WA {1 Wi s STREie cilh—Ad 0% daal § Ry
T B g g il & e & aRum o gR—aR s1ewd | REl 3 g gl Aol # § @ia] awell &
TR < ST AR | a0 # 759 08 o) 9ne Fee—a<E 3 wIa au | A ar e 2 o, =
R o Ferrer o s | § e # goope Armad & e | e # Il | il Sia—dIR B W1 99
doc[ol] ¥ SATaul SATTHT ¥ IU—BIH q@R Te—de &Y 9od1 ol T i) Wil ¥ WER @l Al
SN ocfoll B H Big—HiG g9l | §f + =@cd! & Gerd ¥ |Id, HH G e A |1 Aol | a9 warel 31 8o
% g |u? R fe 7 dher I e A, uor ey ¥ ot FETeE! eRT R W) 3% STuu
HIRG FRI'Y UTEST el & ofd | gl 31 e I werH a1 o (9 START @ ¥ o0 9 URUT o 379 i)
I SeUaET 9T H RIMSR ¥ Hd AR =0 | Oe-gevT 3 (i o & & ¥ e g ¥ SgER #Wd 8
a7 ¥ Wl 3R TR YO §d | S9@d ¥ oRG ¥ 9Eed 3 & X S Y A H AUE IR AT S
3R Wieergmuig ¥ AN TUHAT ¥ ST 3R ST 59 | TOwaTe 3R 9Ia=T ¥ 9N d1 9ier W 9 99 90 |

Sub questions

Question Number : 141 Question Id : 4255894585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g 1 87 g Rrg vgar 31 8le 30 &9 goie s 3 OO & @x0 deei—

e 9ve ffy fie omd

O a1 TN awETd

e a g 9 T e Ead

& a1 ¥R ¥ g faem o od

Options :

42558917816. 1
42558917817. 2
42558917818. 3
42558917819. 4

R

Question Number : 142 Question Id : 4255894586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TSR I XAV fRURT TRETT dv—

LI G i

2 gl ¥ oger @

3. TS

4 ERIE W AR W O
Options :

42558917820. 1
42558917821.2
42558917822. 3
42558917823. 4

Question Number : 143 Question Id : 4255894587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g ae—

1. T T Fg B

2 ot IHe=H I uTerr &Y

3 TR o S AU I AT S99
4 T gl ¥ f2d |wE W Aod ol
Options :

42558917824. 1
42558917825.2
42558917826.3
42558917827. 4

Question Number : 144 Question Id : 4255894588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s ¥ et 3 |rE US #iw A e

1. Oe Wed 6 Hew gt

2 " AN Wl X e e

3 9" T R ¥ AR SRR $Y
4 " yIegl ¥ W qRedr ¥ eRuo gd
Options :

42558917828. 1
42558917829.2
42558917830. 3
42558917831. 4

Question Number : 145 Question Id : 4255894589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T 3R W1 ¥ 9eT Hin 90 Sd—

1. Rig

2. HITaA

3 fsx

4, wa@gl
Options :

42558917832. 1
42558917833.2
42558917834. 3
42558917835. 4



Question Id : 4255894584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Hr fe ey 7 e 3R e "aret ¥ 99 3

ISR A SXA0T S0 A R AIET AR G SR didh—HTe 3 ST 9 S TRATE Y | U, a@fea—gen
3 e URFERT I [HRIA H1 6 | i 3R AT Y WA {1 Wi s STREie cilh—Ad 0% daal § Ry
T B g g il & de O § aRum o gR—aR s1ewd | REl 3 g gl Areedl # g @iaY awell &
gl {7 A ARl ¥ a0 H {69 08 o) "ed Fes—a<n 3 wrId au | B ar B 81 S, |ulr
R o Ferrer o s | § e # goope Armad & e | e # Il | il Sia—dIR B W1 99
doc[ol] ¥ SATaul SATTHT ¥ IU—BIH q@R Te—de &Y 9od1 ol T i) Wil ¥ WER @l Al
SN ocfoll B H Big—HiG g9l | §f + =@cd! & Gerd ¥ |Id, HH G e A |1 Aol | a9 warel 31 8o
% g |u? R fe 7 dher I e A, uor ey ¥ ot FETeE! eRT R W) 3% STuu
HIRG FRI'Y UTEST el & ofd | gl 31 e I werH a1 o (9 START @ ¥ o0 9 URUT o 379 i)
I SeUaET 9T H RIMSR ¥ Hd AR =0 | Oe-gevT 3 (i o & & ¥ e g ¥ SgER #Wd 8
a7 ¥ Wl 3R TR YO §d | S9@d ¥ oRG ¥ 9Eed 3 & X S Y A H AUE IR AT S
3R Wieergmuig ¥ AN TUHAT ¥ ST 3R ST 59 | TOwaTe 3R 9Ia=T ¥ 9N d1 9ier W 9 99 90 |

Sub questions

Question Number : 141 Question Id : 4255894585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g 1 87 g Rrg vgar 31 8le 30 &9 goie s 3 OO & @x0 deei—

e 9ve ffy fie omd

O a1 TN awETd

e a g 9 T e Ead

& a1 ¥R ¥ g faem o od

Options :

42558917816. 1
42558917817. 2
42558917818. 3
42558917819. 4

R

Question Number : 142 Question Id : 4255894586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RTSTRIT ¥ Sa0 Ry TiReT i—

ST G i

2 gl ¥ geor &

3 weHT® O

4 ERIE W AR W O
Options :

42558917820. 1
42558917821.2
42558917822. 3
42558917823. 4

Question Number : 143 Question Id : 4255894587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g ae—

1. T T Fg B

2 ot IHe=H I uTerr &Y

3 TR o S AU I AT S99
4 T gl ¥ f2d |wE W Aod ol
Options :

42558917824. 1
42558917825. 2
42558917826.3
42558917827. 4

Question Number : 144 Question Id : 4255894588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s ¥ et 3 |rE US #iw A e

1. Oe Wed 6 Hew gt

2 " AN Wl X e e

3 9" T R ¥ AR SRR $Y
4 " yIegl ¥ W qRedr ¥ eRuo gd
Options :

42558917828. 1
42558917829.2
42558917830. 3
42558917831. 4

Question Number : 145 Question Id : 4255894589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T 3R W1 ¥ 9eT Hin 90 Sd—

1. Rig

2. HITaA

3 fsx

4, wa@gl
Options :

42558917832. 1

42558917833.2

42558917834. 3

42558917835. 4

Sub-Section Number : 3
Sub-Section Id : 425589186
Question Shuffling Allowed : No



Question Id : 4255894590 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Hr fe ey 7 e 3R e "aret ¥ 99 3

STe Wl @ @i HadT T g9 SN <8 H [T g g7 a1 21 H W0 i Sl g1d, SURT Bi6 ST Hid
gegerd o 9T ®I5 HOY =0, 97 gegaee U BRIl UhiSdre! ®merd ¥ vl AR H @@ o hrre ’e
SES] SN | SUH 97 AT PHIAAT Haf | ZUIT G | @5 T D b Hidar 3@ A H O AT Dy AN SUH
Iep AT B SR T Tehl ATURT HRT G ¥ 07 Ferel 3R R FAS wfaar & | i 597 9xd
T o1 SERr? Rl SRR SRt § @'Y MUY "Rl Sl e FiE SU die 3, 30 ART 3 BE 9F B B
AT BT w@ Y W 9 ¥ BT 3 3 TRl YRUIET Wel Y, A9 o 3R H aciagrel ard wiad 3 g
dar | St il foreds 3 oie | oS ot ware Y ST UB Wenl ¥ & AU 1l diedeie @d, SR Sl Fo
BIO? HAGT O Bl X AR W IAE B A UFHET 5 a7 7T Ry o I BT 81| SR uior 9 ST Haen
o 2 AT e, Sle WATS el | S W Wl ¥ il 94U A 97 SNy Weidd] Mg He| i
STaaTaTe ¥ f5 T @ a1 TeEe aro 3 Wisde U7 od | SU UelT SRl oF 27F 3R] HIRT SiwErgu
TS| 91 WER 59 SN 9 3 Rewr sRar # )

Sub questions

Question Number : 146 Question Id : 4255894591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g X HOd didal YR e e i

1. @iq X 881 ¥ egerse ¥

2 IRl @@ ATIT ¥

3 Hg Y AT W

4 " AT SH-w ¥ Hda 5d
Options :

42558917836. 1
42558917837.2
42558917838. 3
42558917839. 4

Question Number : 147 Question Id : 4255894592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HiodT I AT Fig B—

1. TR WIS 3R AR W EWE

2. Togel OR ¥ ST Wede SuTol

3 SudERTaTs 1 R gur Sy fUsT wrH Sl

4 R¥TH WA A dre AU HER ST AEE o SAfTER HREv
Options :

42558917840. 1
42558917841. 2
42558917842. 3
42558917843. 4

Question Number : 148 Question Id : 4255894593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SR ¥ 12 fres & o 2

1. emf | wefFad s
2 SIUET WA Y A ARG wiaa
3 yweR ¥ dfEg s
4 EHTOE FROT § AOEET Bidar
Options :
42558917844 1
42558917845. 2
42558917846. 3
42558917847. 4

Question Number : 149 Question Id : 4255894594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Wiaar X7 AR HAd  fhor ot o -

1. QU 3 3T e s
2. 2R ST B
3. uf¥as "FE—fAAfT el
4, HARGH HHET

Options :

42558917848. 1
42558917849.2
42558917850. 3
42558917851. 4

Question Number : 150 Question Id : 4255894595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g WRe MUY 9 SR HIOT 3 @@ ARG 8, dd—

3T 3@ JOT SrAferad 37 R &Y
FTadliiear ¥ &R # 9 fiwer Y qd
SO O ATl | YHIAd oY W

4 TOX U0 A 99 3 HRA H 99T Y do
Options :

42558917852 1

42558917853. 2

42558917854. 3

42558917855. 4

W oM



Question Id : 4255894590 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Hr fe ey 7 e 3R e "aret ¥ 99 3

STe Wl @ @i HadT T g9 SN <8 H [T g g7 a1 21 H W0 i Sl g1d, SURT Bi6 ST Hid
gegerd o 9T ®I5 HOY =0, 97 gegaee U BRIl UhiSdre! ®merd ¥ vl AR H @@ o hrre ’e
SES] SN | SUH 97 AT PHIAAT Haf | ZUIT G | @5 T D b Hidar 3@ A H O AT Dy AN SUH
Iep AT B SR T Tehl ATURT HRT G ¥ 07 Ferel 3R R FAS wfaar & | i 597 9xd
T o1 SERr? Rl SRR SRt § @'Y MUY "Rl Sl e FiE SU die 3, 30 ART 3 BE 9F B B
AT BT w@ Y W 9 ¥ BT 3 3 TRl YRUIET Wel Y, A9 o 3R H aciagrel ard wiad 3 g
dar | St il foreds 3 oie | oS ot ware Y ST UB Wenl ¥ & AU 1l diedeie @d, SR Sl Fo
BIO? HAGT O Bl X AR W IAE B A UFHET 5 a7 7T Ry o I BT 81| SR uior 9 ST Haen
o 2 AT e, Sle WATS el | S W Wl ¥ il 94U A 97 SNy Weidd] Mg He| i
STaaTaTe ¥ f5 T @ a1 TeEe aro 3 Wisde U7 od | SU UelT SRl oF 27F 3R] HIRT SiwErgu
TS| 91 WER 59 SN 9 3 Rewr sRar # )

Sub questions

Question Number : 146 Question Id : 4255894591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g X HOd didal YR e e i

1. @iq X 881 ¥ egerse ¥

2 IRl @@ ATIT ¥

3 Hg Y AT W

4 " AT SH-w ¥ Hda 5d
Options :

42558917836. 1
42558917837.2
42558917838. 3
42558917839. 4

Question Number : 147 Question Id : 4255894592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HiodT I AT Fig B—

1. TR WIS 3R AR W EWE

2. Togel OR ¥ ST Wede SuTol

3 SudERTaTs 1 R gur Sy fUsT wrH Sl

4 R¥TH WA A dre AU HER ST AEE o SAfTER HREv
Options :

42558917840. 1
42558917841. 2
42558917842. 3
42558917843. 4

Question Number : 148 Question Id : 4255894593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SR ¥ 12 fres & o 2

1. emf | wefFad s
2 SIUET WA Y A ARG wiaa
3 yweR ¥ dfEg s
4 EHTOE FROT § AOEET Bidar
Options :
42558917844 1
42558917845. 2
42558917846. 3
42558917847. 4

Question Number : 149 Question Id : 4255894594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Wiaar X7 AR HAd  fhor ot o -

1. QU 3 3T e we
2. 2MRETH S wA
3. uf¥as "FE—fAAfT el
4, HARGH HHET

Options :

42558917848. 1
42558917849.2
42558917850. 3
42558917851. 4

Question Number : 150 Question Id : 4255894595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g WRe MUY 9 SR HIOT 3 @@ ARG 8, dd—

3T 3@ JOT SrAferad 37 R &Y
FTadliiear ¥ &R # 9 fiwer Y qd
SO O ATl | YHIAd oY W

4 TOX U0 A 99 3 HRA H 99T Y do
Options :

42558917852 1

42558917853. 2

42558917854. 3

42558917855. 4

W oM



